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Unit 1 : Whole Numbers

Billions

The number 7,379,481,265 can be represented as shown below.

7

Standard form: 7,379,481,265

Expanded form:

7,000,000,000 + 300,000,000 + 70,000,000 + 9,000,000
+ 400,000 + 80,000 + 1000 + 200 + 60 + 5

The number 7,379,481,265 written in words is seven billion,
three hundred seventy-nine million, four hundred eighty-one
thousand, two hundred sixty-five.

/,379,481,265
Starting from the right, each

group of 3 digits forms a period.
Commas separate the periods,




; __Thb_usdn_ds_'_

Billons

Hundredsj Tens Ones jHundreds] Tens Ones Hundreds, Tens Ones iHundreds, Tens QOnes

|

The place value of 3in 7.379,481,265 is hundred millions.
The digit 4 is in the hundred thousands place.

The value of the digit 9 is 9,000,000.

1 billioh.l-‘iéss than 7,379,481,265 is 6,379,481,265.

Which number is smaller, 8,425,678,900 or 8,455,678,837¢

o
Starting from the left,
‘L ‘L ‘L we compare the digits
”WMMW 8,425,678,900 in each place value,
- until we find 2 digits
8,455,678,837 that are different.
_ _

20 million is less than 50 million.

8,425,678,900 is smaller.

Matherics (Sndards Edi



Appmx:ma'&mn and Estimation

o} ound'q number to a certqln place vqlue we !ook Gt the digrc
“inthe nex "Iower place vqlue' f 1t is less than 5 We round down
lS 5 or greczter we round up ' |

1. Round 1,345,826,917 to the nearest hundred million.

What digit is in the hundred millions place?

'
1,345,826,917

What digit is in the next lower place value?

The sign ‘=" means
approximately
equal to.

1,34%»5,826,917

Do we round up or down?
1,345,826,917 = 1,300,000,000
1,345,826,917 is approximately 1,300,000,000.

2. Round 426,839,105 to the nearest ten million.

What digit is in the ten millions place?

!
426,839,105

What digit is in the next lower place value?

426,839,105

Do we round up or down?
426,839,105 =~ 430,000,000
426,839,105 is approximately 430,000,000.




3. Round each number to the nearest ten million. . H
Then estimate the value of

(@) 386,591,200 + 123,456,789
(b) 827,356,409 — 453,608,721

|
(a) 386,591,200 + 123,456,789
~ 390,000,000 + 120,000,000

= 510,000,000

|
(b) 827,356,409 — 453,608,721

~ 830,000,000 — 450,000,000
= 380,000,000

Estimate the value of
(a) 11,021,040 x 5
(b) 85,976,314 + 3

11,021,040 x 5
= 11,000,000 x 5
55,000,000

(b) 85,976,314 +3
~ 90,000,000 + 3
= 30,000,000

© Primary Mathematics {Standards Edifion) Extra Practice 5 . © 2008 Marshill Ceve i remational (Singapare) Privele




Factors and Multiples

Fact@rs of cz certcun number ds\/[de the number exactly. A Who!e
umber can be expressed as a product of factors |

1. Find the factors of 18.

18 can be divided by 1, 2, 3, 6,

18=1x18 9 and 18 exactly.
18=2x9 s
18=3x6

The factorsof 18 are 1, 2, 3, 6, 9 and 18.

2. Is 5 a common factor of 25 and 60?

25 can be divided by 5 exactly.
So, 5 is a factor of 25.

60 can be divided by 5 exactly.
So, 5 is a factor of 60.

As 5 is a factor of both 25 and 60, it is a common factor of
25 and 60,




List the first four multiples of 6.

1x6=6

2x6=12

3x6=18
4x6=24

The first four multiples of 6 are 6, 12, 18 and 24.

4. 1s 98 a common multiple of 2 and 72

vy
-

Since 98 is divisible by both 2 and 7, 98 is a common
multiple of 2 and 7.




Prime Factorization

: prlme numberf:s a Whole number greater thcm 3 WhICh hqs
;_f_-_exectly two factors, 1 and the number itself ol

A composrte number isa Whole number greater thcm Lwhlch
_has at least two fcactors that dre not 1 L o

s:'.'_';:The:'numberS“O 'a'nd 1 are nelther pr;me nor composate

1. ldentify
(a) the prime numbers,
(b) the composite numbers, in the following.

3,4,7,21,31,47

(a) The prime numbers are 3, 7, 31 and 47.
(b) The composite numbers are 4 and 271.

J.'f.f_'Prame chtors crre any factors of q number Whlchj-'_._.; i
arej prlme numbers o e i

}_}:fPﬂme factorlzatmn is the process of factormg a composute-f
number mto lts pr:me chtors G .

2. Express 48 as a product of prime factors only.
Method 1: Use a factor tree.

/48\ 48

4 12

AR
7N\ /\ /\
2 2 2

48 =2 x2x2x2x%x3
=24x3

Marshal Cavendish I nal (Singap } Biva d anuryMuih matics {Standards Edit _ Extrr Practice:5




Method 2: Use continuous division, starting with the lowest
prime number that is a factor.

48
24
12
S

W NN NN

A8 =2 x2x2x2x%x3
24%x 3

il

In 24 2 is the base and 4 is the exponent.

The exponent tells us how many times to multiply the base

e

-
e
e ok

3. Write the following using exponents.

(@) 5x5x5%x5%x5%x5
(b) 3x3x3%x3x7x7x7

(@) 5x5x5x5x5x5=5°
(b) 3x3%x3x3x7x7x7=3"x7

Y@ 2008_ Marshall Cavendish literiational {Singapore
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Multiplying by Tens, Hundreds or Thousands

: When muitlplymg a Whole number by 10 the numbe;‘ is
mcreased 10 tsmes E | o

Multiply 432, 000 by 10.

[ 100,000

100,000 | 100,000 |

1,000,000, {100,000 ]

100,000 |

432,000 x 10 = 4,320,000

100,000 ]

2. Multiply 432,000 by 20.

432,000 x 20 =432,000 x 2 x 10
= 864,000 x 10
= 8,640,000

Multiply 432,000 by 2 first.
432,000 x 2 = 864,000




ihen mulipying o whoe numberby 10, thermbe
ihc'rfe'('j$ed"§00 times. .

3. Multiply 150,000 by 100.

150,000 x 100 = 15,000,000

4. Multiply 150,000 by 300.

150,000 x 300 = 150,000 x 3 x 100
450,000 x 100
45,000,000

{1

i

When muliphing a o number by 1000 the numbers

5. Multiply 240,000 by 1000.

240,000 x 1000 = 240,000,000

Multiply 240,000 by 4000.

240,000 x 4 x 1000
960,000 x 1000
960,000,000

240,000 x 4000

Estimate the value of 108,000 x 2015.

it

110,000 x 2000
220,000,000

108,000 x 2015

P_rim_un:r fﬁuth‘e_ﬁuhté (Standards E_dii_i_dh) Eid_r_u Prum(e S




Dividing by Tens, Hundreds or Thousands

§'_:;:When d:v;dmg a Who]e number by ’IO the number as
.}"reduced ’IO times.

1. Divide 2,000,000 by 10.

1,060,000 100,000

I ,000,000 100,000

2,000,000 + 10 = 200,000

2. Divide 32,000,000 by 20.

32,000,000 + 20 =32,000,000 =10 + 2
= 3,200,000 + 2
= 1,600,000

[32,000,00@ + 2@] Ooo

E'":'\/Vhen leidmg a whole number by 100 the number ss_-'-_
re_duced ‘iOO tlmes -

3. Divide 600,000,000 by 100.

600,000,000 - 100 = 6,000,000



L
-

-

-

Divide 270,000,000 by 300.

270,000,000 + 300 = 270,000,000 + 100 + 3
2,700,000 + 3
= 900,000

[270,000,0@@ - 3@&]@0 o

When dividing a whole number by 1000, the number is
reduced 1000 times. .
5. Divide 800,000,000 by 1000.

800,000,000 + 1000 = 800,000

6. Divide 750,000,000 by 5000.
750,000,000 + 5000 = 750,000,000 + 1000

750,000 + 5
150,000

7. Estimate the value of 5,558,300,200 + 6955.

5,558,300,200 + 6955 = 5,600,000,000 +~ 7000
= 800,000

o Primary Muiﬁémﬁt‘i'_t_s'(:Sm'rE&u'rﬂs _Ediﬁon):Ex?rﬁ Péacice 5 ) S e 2008 Marshg'l'cév_éqd_ish Internatl.c.mal (i




Nogme: Closs:

Date:

Exercise 1: Billions

1. Write the numbers.

hundred three

six hundred

thousand, two hundred one

Nine billion, fifty-four million, sixty-two

(a) Six million, two hundred forty-eight thousand, nine

(b) Forty million, eight hundred twenty-seven thousand,

(c) Nine hundred eighty-eight million, five hundred sixty

(d) One billion, six hundred thirty-five thousand

(e) Three billion, eight hundred seventy-seven

athematics (Standards Edition) Extra Prac




2. Write the numbers in'words.

(a) 5,200,000

(b) 18,607,000

(c) 435,912,067

(d) 2,398,701,006

3. Write the following numbers in expanded form.

(a) 698,762,100

S
Sy

(b) 1,379,265,184

. ©2008 Marshall
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4. Write the missing numbers.
(a) 6,000,000 + 9000 + 300 =

- (b) + 8,000,000 = 28,000,000

(c) 300,000,000 + 70,000,000 +
= 375,000,000

(d) + 90,000,000 + 1,000,000 +
400,000 + 50,000 + 2000 + 700 + 30 = 891,452,730

5. Fillin the blanks.

(a) Ten thousand less than 876,089,000 is

(b) Ten million more than 56,327,400 is

(©) is one hundred thousand less than
10,832,456.

(d) is one thousand more than
752,108,634

6. Fill in the blanks.
In the number, 7,832,651,409,

(a) the value of the digit 2 is

(b) the place value of the digit 6 is

(c) thedigit 8 isin the place.

(d) the digit is in the ten millions place.




7. Write € or > or =in each O

(a) 98.793,100(_)879,310,000

(b) 465,399,228 O 465,387,228

() 51.738,260( )51738,969

(d) 9,386,254 O 9,976,254

-
e
”WWW

=

i Primgiry Mui_hérﬁuiits"{ﬁtﬂn&u;ﬂ§ Edi.flﬁl'.l}.E.)'_(-t'r(t:_P_l_‘.ﬂ_._(.f_lcé 5




Name: Class: Date:

Exercise 2 : Approximation and Estimation

1. Round each number to the nearest million.

(a) 8,732,999

(b) 10,560,327

2. Round each number to the nearest ten million.

(a) 24,320,257

(b) 47,403,054

(c) 813,794,626

(d) 117,235,870

3. Round each number to the nearest hundred million.

(a) 573,426,800

(b) 6,928,375,140

(c) 327,210,310

(d) 6,824,003,004

"?-'.1%“__'3.(3.""'.5.'3.91'0.*9) 's_:f“"f"téﬂ""ﬁ“:e.‘* :: g P '_:.jr'Mnihéhid!ics {Standards Edition) Exira l_"m'c:tiré'S"_:' _




4. Round 5,194,736,280 to the nedarest

(a) hundred million

(b) hundred thousand

(c) million

(d) ten thousand

(e) ten million

(f) thousand

5. Round 8,356,497,210 to the nearest

(a) thousand

(b) million

(c) ten thousand

(d) hundred thousand

(e) hundred million

(f) ten million

Primary Mathematics (SE&nd'urdsﬁ_Edi’ﬁ_dh)_ﬁ Extre Practice 5 L e ae Mg;sl.‘ha'u-c-ay'e_ﬁdisn Interhational (Singapore} Priva



6. Round each number to the nearest million.
Then estimate the value of

(a) 8,475,623 + 3,501,211
= +

(b) 921,089,000 — 598,898,000

fre]
— P

(©) 7,510,629 — 2,498,176

ot

613,589,000 + 387,926,000
=~ +

ndir Edition] Extra Prac



i -..-._',5‘"
2

(a)

(b)

L]
=]

606,300+ 6

Pt
==

1,023,400 x 4

==

=]
(=

 Primary Mathematics {Sondards Edion] B Practice 5

8,307,000 +5

7. Estimate the value of each of the following.
385,500 x 3

x 3

X 4

£ © 2008 Marshall Cavendish intermiational (Singagore) Privale L
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Name: Class: Date:
Exercise 3 : Factors and Multiples
1. Find the factors of each of the following numbers.

(a) 24

The factors of 24 are

(b) 75

The factors of 75 are

(c) 84

The factors of 84 are

d) 96

The factors of 96 are

(e) 121

The factors of 121 are




2. What numberam ?

(a) 1am between 10 and 15.
| am a multiple of 2.
| am a factor of 48.

am

(b) 1am between 15 and 25.
| am a multiple of 5.
| am a factor of 40.

() 1am smaller than 35.
| am a common multiple of 6 and 10.

| am

| am smaller than 24.
| am a common multiple of 7 and 3.

I am

| am greater than 2.
| am a common factor of 6 and 9.

I am

| am greater than 10.
| am a common factor of 65 and 117.

Primary Mathematics (Siandneds Edition). Exira Praice



Name: Class: Date:

Exercise 4 : Prime Factorization

1. Write the prime factors of each of the foliowing.

{a) 15

(b) 20

(c) 33

2. Complete the following factor trees.
(a) (b) 50

g\ /

4 e
(©) /36 (d) 24\12
fh

uthematics (Siarida




3. Rewrite the following using exponents.

(a) MxNx1=

(b) 2x2x2x2x%x2=

() 7x7x7x13x13=

(d) 5x5x5x5%x3x3=

Find the value of each of the following.

(a) 26=

) 7=

(©) 52x32=

Write the prime factorization of the following using
exponents.

(a) 28

(b) 36

.

o e : e
e ; .
- HR IS R
o e .

Primary _M'nih'gmu'ti'ts- (Standards Edition -E_xt'rﬁ Frd&:te_.i :




Name:

Exercise 5 : Multiplying by

Closs:

Date:

Hundreds or Thousands

1.

Find the value of each of the following.

(a) 347,000,000 x 10

(b)

408,000,600 x 20

(c) 24,000,000 x 80

(d)

93,000,000 x 100

(e) 5,900,000 x 300

()

758,000 x 500

(g) 236,000 x 700

(h)

514,000 x 1000

(i) 707,000 x 4000

()

62,000 x 6000




ing.

h of the followi

ac

()
(.
o
L
=
]
>
w
£
)
0
st
(o]
=

Est
(a) 38

2

300 x 112

456

»

X

(b) 62,454,700 x 18

(c) 705,800 x 4024

(d) 848,999 x 56




Name:

Class: Date:

Exercise 6 : Dividing by Tens,
Hundreds or Thousands

Find the value of each of the following.

(a) 590,000,000 + 10

(b) 900,000,000 + 30

(c) 7,770,000,000 + 70

(d) 2,300,000,000 + 100

(e) 360,000,000 + 400

(f) 78,000,000 + 600

(g9) 4,500,000,000 =+ 1000

(h) 750,000,000 + 3000

(i) 30,000,000 + 5000

() 84,000,000+ 7000

S o Pr{mary Mmhemmlcs (Sitin’dur"xf's;tE_'z_i_iﬁén]: Bitra Praciic




Estimate the value of each of the following.

(@) 35,550,000+ 18

I

49 871,780 + 505

58,244,752 + 2876

S
-

2,084,596,460 + 415

ui‘défﬂitiﬂh}fﬂfu.Fm‘cﬁte 5": ey @2008 Maljél}a'!l.(:avgn_di:sh' fnt:er.n.a_tm'n_al_.(St_ngap.mr:e)F‘ val




Unit 2 : More Calculations
with Whole Numbers

Calculations with Parentheses

;__-E_.Qrder of Operatlons | Shteean s s
5?];:Do"mult|phcc1tlon or dIVISIOﬂ from Ieft to rlght then addltlon or
:';"subtrcrctlon from Ieft to rlght | e

| Compute the expressnon in parentheses ﬂrst rF c:my

1. Findthevalueof6 x8+30+5—-4x9,

6x8+30+5-4%x9=48+6—-36
=18

If the expression in the parentheses
has different kinds of operations,
use the order of operations.

2. Find the value of 300 + (5 + 11 x 5) — 8.

300+ (5+1x5)—8=300+(5+55)—8
=300+ 60— 8
=5-8
=3

va.t.é_um.ﬁéa:_. GEELE TR L ol b ?mm(es




ethods for Mental Calculation

When we- ‘add numbers close to 100 to another number, we can
add 100 first and then subtrcsct _t'ne diﬁcerence between the '

number and ’EOO

1. Add 455 and 99.
A55 + 09 = 455 + 100 — 1
=555 — 1
554

When we subtract numbers’ close to 100 from cmother numberﬁ'
we can subtract 100 first dand then add the difference SR
between the number and 100 AN L

, 2. Subtract 98 and 367.
- | 100—98:@ O
11 367 — 98 =367 —100+2 O

=267 +2
= 269

3 Prif;‘u_ry Mathematics (S’tund'tlrds"Eﬂiti_dn'] Exira Pfd_t_ﬁr.é' . +:.6 2008 Marshall Cavendish International (Si



:':;;fWheﬂ we multiply mentai!y, we can multiply the tens, multlp!y
_'f.'_._the ones, (:md then cadd the products e

3. Multiply 85 by 6.,

85x6=80x6+5x%x6
=480 + 30
=510 There are many different

ways to multiply mentally.
Here are some ways.

4. Multiply 85 by 60.

85x60=85x%x6x10
=510 x 10
= 5100

ver number,
S 5. Multiply 67 by 99.
67 x99=67 x 100 — 67

6. Multiply 36 by 25. 36=9x4 O
@,

36 % 25 =9 x 4 x 25 Ax22=100 ]

=9 x 100
=900

h_au’b'nal (_S:ingapo"re')_' Pri ato)
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Word Problems

1. Mervyn has 110 marbles. Alan has 2 times as many marbles
as Mervyn and 4 times as many marbles as Simon. How
many more marbles does Alan have than Simon?

?

A

When we draw the model, we
draw Simon’s part first as he has
the least number of marbles.

Simon

Alan

Mervyn

L__V____J
110

2 units = 110 marbles
1 unit =55 marbles
3 units = 165 marbles

Alan has 165 more marbles than Simon.

A tennis racket costs 3 times as much as a book. if the tota
cost of the book and the tennis racket is $36, find the cost
of the tennis racket. |

-
_

Book

Tennis
racket

4 units = $36
Tunit=%$9
3 units=%$27

The cost of the tennis racket is $27.




hole Number

Multiplication by a 2-digit W
1. Multiply 57 by 60.

Method 1:

57x60=57%x6x10
;:; =342 x 10
marbles. = 3420

Method 2:
4
57

X 60
3420

2. Multiply 368 by 25.

k. If the total x 25
ind the cost 1840 = 368 x5
7360 <— 368 x 20
9200

[368><25 =368 x5+ 368 x 20 ]

<o
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e

Division by a 2-digit Whole Number

1. Divide 98 by 36.

2
36) 98
72

26

2
40) 98

40%x2=80 40x3=120
The estimated quotient is 2.

2. Divide 225 by 25.

y 7 S
7 25) 225 25) 225
. B 307225 175 225

c
o s
e

e
Sy

- LRl The estimated 50

. N quotientis 7.

The estimated
- 3 : guotient is too
. 8 - small. Try 9.

1 @308 Marsiall Cavendish Intenational (Singapore)
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Name: Closs: Date:
Exercise 1: Calculations with Parentheses
1. Find the value of each of the following.
(a) 26-17+15 (b) 42+6x7
() 7x8~-9 (d) 27+3+10
(e) 12+5x4-7 (f) 24+4+45x2
9 — _
25}225
225
0
(g 9%x4+2-10 (h)y 4+35+7x3
() 16+8+8-2x5 () MNM+6x9-36+4

iy et s P




-

A

Revus
Nen

-
e
Y
ﬂ

(63 —8)=5

33—-(7+4)

120+ (6% 2)

8x8—(2+8)

81+ (7+2)x10

(s)

3x3—45=(4+1)




Name: Class: Date;
Exercise 2 : Methods for Mental Calculation
1. Find the value of each of the following mentally.
(@ 199+25 (b) 213 +499
=200+ 25 -1 =
(c) 1109+599 (d) 386+104
- 9+34
(e) 1245+ 305 (F) 2306 +394
-3 x5+2
(g) 405-299 (h) 1299 —499
=405-300+1 =
6)+49+7 () 500-74 () 2300-38




2. Find the value of each of the following mentally.

i (@) 43 x31 (b) 99x57

e
ot

-
o
I




Name:

Class: Date:

Exercise 3 : Word Problems

1.

Find the missing numbers.

(a) +1085 = 3255

(b) — 845 =155

(c) 3x
(a) x 12 =120
(e) +4=85

120

() 744+

fial ('S.iz_]g_l_a';.:;ré)___P_rs:_\za :
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2. Do these. Show all your work clearly.

(a) Mrs. Jackson bought 23 dozen pencils. She gave
15 pencils to her students. How many pencils does she

have left?

(b) Josephine bought 6 bags of marbles. Each bag contained
50 marbles. She shared them equally with John and

Carlos. How many marbles did John get?




contained |
n and "

(c) Book B has 10 times as many pages as Book A.

If Book B has 500 pages, how many pages do Book A
and Book B have altogether?

(d) Ahmad has 1200 rubber bands. He puts them equally
into 10 boxes. How many rubber bands are there
altogether in 6 of these boxes?




(&) Mrs D’cruz gives some money to her 3 sons and
5 daughters. Each son gets $15. Each daughter
gets $18. How much money has she given to them

altogether?

(f) Juanis 20 kg lighter than Mike who is 5 kg heavier than
Nathan. If Mike weighs 50 kg, what is the total weight
of Juan, Mike and Nathan?

@008 Marshall Caverigsh International (Singap
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nd . (g) Lastterm, Oak Elementary School bought 15 chairs

| which cost $450 altogether. This term, they bought
another 25 similar chairs. How much did the school
spend on chairs in the two terms?

eavier than (h) Nicole had $50. She bought 35 pears. Every 5 pears
: cost $4. How much money did she have left?




A furniture store sold 56 cabinets and 73 bookshelves
for $32,375 altogether. Each cabinet cost $350. What
was the price of each bookshelf?

A factory had to produce 7600 radios. The factory
produced 600 radios each day for 8 days in the first
stage. The remaining radios were produced over the

next 4 days in the second stage. How many more
radios were produced each day in the second stage?




Nome: Class: Date:

shelves Exercise 4 :

Multiplication by a 2-digit

1. Multiply.

(@) 39x28 (b) 128 x50

() 207 x40 (d) 385 x37

dstage? | (&) 3146 x60 () 2069 x 71

(g) 4305 x 23 (h) 5723 x14

o (Sindords Eiion) ExrPocics




(m) 599 x 38 (n) 1603 x 43

Lo
e iAo

-

(o) 7896 x54 2762 x 27

© 2008 Marshall Cavendish Internationat (Singaparal,
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Exercise 5 :

Name:

Class:

4 @

vision

by a 2-digit

1. Divide.
(a) 73+20 (b) 84 +31
(c) 257+40 (d) 377+62
(e) 520+74 ) 1515+17

(g) 1282+53

(h) 8447 =49

Bteemational (Singapore

¥

- Private Lirited .




() 659+50

(k) 191+37 () 283013

(m) 3457 +49 | (n) 4404 =55

- Primary Math‘_e;ﬁuﬁis. {-S.mrj'dur 1: |1.m'n)i Extra Pructi:ce-S_ :




(0) 5845 +28 (p) 6000 +62

(@ 658577 () 8069 +53

(s) 7081+60 (t) 9789+89




2. Do these. Show your work clearly.

(a) There are 60 books on each shelf in a library. If there
are 7080 books altogether in the library, find the
number of shelves in the library.

(b) There are 15 rows of chairs in a hall. If there are an
equal number of chairs in each row and the total
number of chairs is 285, find the number of chairs in
each row.

S o
&\WMW
-
e
-




Unit 3 : Fractions

there
e
Comparing Fractions
;:_.fi.'liTo compare frczctlons we chcsnge them to like fmc*tmns
 Like fractions are fractions with a common denommator
Forl like fracti“”ns the greqter the numerqtor the greater the
;;f.;:fractlon e SN
C L 4 5
Which is greater, T or E?
X 6
=TT,
4 - 24 To change the fractions to like
> 30 fractions, we find equivalent
pa—d
x 6 fractions which have the same
dre an - denominator.
otal x5 N
. o
hairs in 5 25
6 30
e
x5

To change to like fractions, we

find the common multiple of the
denominators.

30 is a common multiple of 5 and 6.

24
30°

So, ~5— is greater than g

25
30 is greater than 5




Fraction and Division

Find the value of 34 + &,

Method 1 4
O
g, 8)Y 34 O
34'—8:4§ 32
p
—al
_44

Method 2:

g =34 34
34+8= 8 Reduce 7g~to its
17 simplest form.

Addition and Subtraction of Unlike Fractions

Unlike fractions are fractions which do not have the same
denominator. When adding or subtracting unlike fractions, we
change them to like fractions first. -~ N i

2 3
Add '3— Gi"id ‘"ﬁ'
2 3 20 S ‘""3”’ “6—‘, __9__’
2,3 =20+ 70> 20° 30
0 30 30 is a common
29 i
=< @ulttpie of 3 and '\O.J

Primary 'Mq'ihém:gﬁ:'sz (Standaids Edi_ﬁhn} Extra Praictice 5 ' ®2008 Marsfiat Gavendish Intsinational (Singapore




2. Subtract Z from 2.
3 5
K4 8 12
42.12_ 10 |56
5 3 15 15 246 8 10
y, 32679712 15>
T 15 is @ common
multiple of 5 and 3.
N )

Addition and Subtraction of Mixed Numbers

'::”When adding or subtracting mixed numbers, we add or
_:btract the whole numbers first and then the fractions.

1 3
1. Add BZ and 2§"

| (Singapore) Piivats Lirited DI A




2.

Multiplying a Fraction and a Whole Number

M‘“
w Sha -
3{? v“\«w»www

SR -

 When multiplying d frcrctlo'n_ by a wh ve
the Whole number by the numerator of the fract;on

Multiply © by —%

3 _27
9%X95 70

e
10

Primary Mci_{he'mut!cé- (Standards Edition) Extra Practite’5 - ©2008 Marsfal Cavendish Infomational (Singeriore
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Fraction of a Set

1. Find % of a liter in milliliters,

éofuliterx%x1€

5
1 £ =1000 lj
=3 % 1000 ml L m OO
O

5

— 3 x1000
N 5

— 3000
5

=600 ml

2. Find —24 of a meter in centimeters.

3 3
Zofq meter--4 x1Tm

:%X'EOOcm [’imzlooch OO
3x100 5

=T 2
_ 300

4
=75cm

o Catendih emtenal(Shaspor) Pvate Limiad - iy Wathamatcs [Sundonds Fdfon) i Prot




Jord Problems

There are 42 children in a class. %ﬁ of them wear glasses.

How many children do not wear glasses?

First, 1 find what
fraction of the children
do not wear glasses.

—2— of the children do not wear glasses.

.
5 5 x 47
6X42 18

35
35 children do not wear glasses.

Method 2:

1 x
18

=7

Number of children who wear glasses =

Number of children who do not wear glasses =

Method 3:

6 units = 42 children
1 unit = 7 children

Number of children who do not wear glasses =

s (Stondards o) Bera Praie 5= @ 008 Marshal Cavndish nfernational Singapare)




Name: Closs: Date:

Exercise 1: Comparing Fractions

1. Circle the greater fraction.

(@) = 2 b) 2

~J| o

N

© 5 % @ 2

Bl

(&) 5 ® o

wiun

2. Circle the smaller fraction,

3
@3 3 © & 7

IEN

© % @ & 32

& o = @ 22 23

 Marshall Cavenlih Intermiatoral (Singspors) Prvate Limitot, . 1 . Primary Mathematics (Standards Ediion) Extra Proctiee -+




Write > or< or=

4 8
25( )3
13 15
4 7

OF
6
7
@ 3%
Arrange the fractions in increasing order.

N 63 41
@ 573515

2 1T 16 44
® 33 5 %

Arrange the fractions in decreasing order.

5 1213

@ 579556

5351 19
®) 3% 3

Pr mary Matheraatics (Staidards Edition) Extre Practice 5 Lol 2008 Marshal Caven Ih irsmational (Singapore) P




Class: Date:

Exercise 2 : Fraction and Division

1. Express each of the following as a mixed number in its
simplest form.

(a) 16+3 (b) 23+4
(c) 37+5 (d 19+6
(e) 7+2 (fy 25+7

I
|

(@@ 15+10 (hy 13+8




2. Express each of the following as a whole number or a mixed
number in its simplest form.

@ 2 (b)

4

o

e
T
s v




3. Do these. Show all your work clearly.

(a) There were 30 cookies in a jar. Eileen divided the
cookies into 12 equal shares. How many cockies were

there in each share? Give your answer as a mixed
number.

(b) A gallon of milk was poured equally into 9 glasses.
How many cups of milk are there in each glass?
Give your answer as a mixed number.

[190!316 cups]

<o




- e
A i
et

I

2

-
e
e

.ﬁ\

(c) Ryan cut a wire, 1 m long, into 10 equal pieces. How

long was each piece of wire in meters?

(d) Ajug can hold 3 times as much juice as a mug. If the
jug can hold 2 liters of juice, how much juice in liters

can the mug hold?




Name: Class: Date:
Exercise 3 : Addition and Subtraction
of Unlike Fractions
1. Add. Give each answer in its simplest form.
2,5 _ 4 2 _
(@) F+5= (b) £+3=
1,4 5,13 _
(© s+z= d) Zz+4=
mug. If the
lice in liters
' 7 3 _ 7 .1 _
(e) ,i—of“}‘“z-— (f) 1§+§"-—~
1T, 3_ 5,1 _
(9) 3€+Z—~ (h) 2“é“+§-—
. 2, 3 _ . 5 3
(i) 2-+7= () 3gtg=

ool Shgepor P Unted i e (s o) i P




Subtract. Give each answer in its simplest form.

11
= (b) T‘_%:

I
oo|w

(@ 2




Name: Cluss: Date:

Exercise 4 : Addition and Subtraction
of Mixed Numbers

1. Add. Give each answer in its simplest form.

5 1 _ 1 S
(@ 33+27= b) 1z+2%=
3 7 _ 5 3 _

3 4 _
(H 12+32=

© 2008 Marshall Cavendish "ifémaﬁ.““'ﬂ_"(SiﬁQ?450’9 Private Limited = . A Primury Mathematics (Standards Edition) Extra Proctice. 5



5 Subtract. Give each answer in its simplest form.

1 5 _
(b) S4-22=

-!.’;'imu.ry'Ma_'t_i'lémqﬁ'l;s_z S‘i‘unddrﬂs Editm)_'E:’c_t_r'n_'Pfattice -




3. Do these. Show all your work clearly.
(a) The total length of two strings is 3—;—’4 m. If one string is
’i% m long, what is the length of the other string?

(b) A clerk works 3% h in the morning and 3% hin the

afternoon. How many hours does she work in a day?




(c) A papaya weighs 2;5 kg. A guava weighs ’i% kg less.
Find the total weight of the two fruits.

(d) A shopkeeper had 9 b of beef jerky. He sold 2-21 b on
Friday and 3% Ib on Saturday. How many pounds of

beef jerky did he have left?

:©20(j8'Marsh.al.l'Cavér_ldish'.lnt:ér_na' nal Singapore) Fl
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Class: Date:

Exercise 5 : Multiplying a Fraction
and a Whole Number

Find the value of each of the following.

1 _ 2 -
(C!) 8><§— (b) WXBB—-—




5 Do these. Show all your work clearly.

(a) Natalie needs % a cup of flour to bake a pie.
s she need to bake 5 pies?

How many cups of flour doe

(b) Joshua jogs —1: km every day. What is the total distance,

in kilometers, Joshua jogs in @ week?

ics (Standards Edition) E‘idr'u-{?.r_uc!.tcéS.'




Name:

Class: Date:

Exercise 6 : Fraction of g set

¢ : 1.

Find the value of each of the following.

(@) 2of12 (b) Zof75
1 4

(c) zof8 (d) Fof24

(&) Sof21 () 2o0f32

(a) 2km=

(b) s£h=

Find the equivalent measures.

m




(e) 421b=

() 2% years = months
19—
7o

(h) 553 min=

o
- o [ =
R

5

() 7g9al=

Write each of the following in compound units.

(@) 25kg= kg .

(b) 3% years = months

(©) 8% min =

3o
(d) 637 ft =

(e)‘ 4—% km =

-P_timiy Mathematies (Sfﬁndﬂr'ds Edition) Extra Pracice 5. L L e 0 Marsha Cavendish internationel
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4. Solve.
(a) Express350gasd fraction of 1kg.

(b) Express60cmasa fraction of T m.

(c) Express 55 centsasd fraction of $2.00.

What fraction of 6 his 30 min?

What fraction of 1 £ is 250 ml2

2008 Marshali Cavendish Interhational (Slngab i
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Name: Cluss: Dute:

Exercise 7 : Word Problems

1. Do these. Show all your work clearly.

(a) Tony took —1% of an hour to finish his exercise. How

many minutes did he take?

(b) Ashton bought 20 apples. He ate 5 of them. What
fraction of the apples did he eat? What fraction of the
apples did he have left?




(c) Emily bought 15 stamps. She gave % of them
to Maggie. How many stamps did she have left?

(d) Larry jogged 2:;)% km. How many kilometers and meters
did he jog? '-

=
o

7
1
e

e @'_ZUOB.Marsﬁéll Caveridish Inten il (s ng'appf_é} ;
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(e) Elise had $15. She spent f_’i of it on a book. How much

money did she have left?

() ~4-52-of the washing machines in a store were sold for

$3840. If 18 washing machines remained in the store,
what was the cost of each washing machine sold?




(g) There are 200 first grade students in Pine Elementary
School. The number of second grade students is ¢ that
of first grade students. The total number of first cmd
second grade students is :é% of the total school

population. What is the total school population?

@.)_?.O'DB MérsﬁaﬂCavé I i vational, (Sing ofe




Unit 4 : (M

ultiply and Divide Fractions

Product of Fractions

When multiplying a fraction by another fraction, we multiply
-f'_"_f'__h;e-_'n'umér'qto_rs and the dehO’rhinatO‘rs"Sépam'tély;rj i N

1. Mu!tipiy% by %

Method 1:

% of a class are girls. % of the girls have long hair. What
fraction of the class are girls with long hair?

3

1
6~ 2

1l

—;- of the class are girls with long hair.



Word Problems
A storybook has 250 pages. Melissa read % of the storybook on
Friday and % of the remaining pages on Saturday. How many
pages did she read on Saturday?

250

Method 1:

1
1-5

She had f’é— of the pages in the storybook left to read on Friday. |

1 1

—, X
g 10

She read 1—10- of the pages in the storybook on Saturday.

1 —
T()—X250—-25

She read 25 pages on Saturday.




on Friday.

She read 25 pages on Saturday.

Method 2:

1=
-3

TIES

She had g of the pages in the storybook left to read on Friday.

4 50
EXZBO—2OO

1

She had 200 pages left on Friday.

1 25
“"/é;"xm-——25

1

Dividing a Fraction by a Whole Number
Divide £ by 4.

L2
2 Divide 3 into 4 equal parts.
1 2
Each partis 7 of 3.




2. 3 children shared -3§ of a pie equally. How much pie did each
of them get?

i

Dividing by 3 is the same OO
as multiplying by 3 3 O

3 . o1
573753

Each of them got % of the pie.

Dividing by a Fraction
1. Rita bought 4 pies. She cut each pie into fifths. How man
pieces of pie did she have?

There are 5 fifths
in 1 whole. '
There are 20
fifths in 4 wholes

© 2008 Marshalt Caverdi



She had 20 pieces of pie.
2. Divide 5by 2.

Dividing by —% is the same
s 5
as multiplying by 5.




- =

.

5 o
i R i

oo L
3. DIVIdeZby F

Divide "lj into eighths.
There are 2 eighths.

. ; 1
8 is the reciprocal of 3.

i Primafy Md_ihém’dﬁcs’ (Siﬁndﬁ_rﬂs[&itmﬁ .Ex.t_rc_l' Praclics 5

Dividing by '%' is the
same as multiplying by 8.

& 2008 Marshall Cavendiéh Internatioral (Sir




Name: Class: Date:

roduct of Fractions

Exercise 11

1. Multiply.

(@) 2x2= (b)

o=
wl—

(© 3x35= @ §x75=




-
e

L

2. Find the value of each of the following.

(a) % of%




Class: Date:

Exercise 2 : Word Problems

1. Do these. Show your work clearly.

a) Jane had 3 kg of sugar. She gave L of it to Kathy.
5 3 4

How much sugar did she give to Kathy? Give your
answer in kg.

(b) Iread _JI of a book on Saturday and %— of the remainder

on Sunday. If 36 pages still remain to be read, how
many pages are there in this book altogether?

avendishi Interrt




(c) May has 84 books. % of them are fiction books.

% of the fiction books are on science fiction. How many

science fiction books are there?

(d) Tyrone has 320 storybooks. He bought % of the

books himself. The number of books his uncle gave him-
2
5
storybooks did his uncle give him?

is 2 of the number of books he bought. How many

@-ZUDSIZMarsI‘Ea'll Cavendish. [nferation




Class: Date:

Exercise 3 : Dividing a chtmm
by a Whole Nu

1. Divide.

(@) 5+2

H
Vi
o
A
W
I
Ul
H




Ve e

v o

AN
\WMW\\

A
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Class:; Date:

Exercise 4 : Dividing by a Fraction

1.

Divide. Write all answers in their simplest form. Change
answers to whole or mixed numbers where possible.

(a) 8+3= (b) 5+2=

. 3
(d) 6+3=

rE) _F‘_n’vaié




S

) T
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Class: Date:

ord Problems

Exercise 5 1]

1.

Do these. Show your work clearly.
(a) The area of a rectangular piece of paper is % m2.

Its width is 4 m. What is its length in meters?

(b) % liters of orange juice was shared equally among

3 students. How much orange juice did each
student get? Give your answer in liters.




(c) Sam divided ;—;1 Ib of strawberries among 5 friends.

How many pounds of strawberries did each friend
receive?

(d) Eric had 28 kg of soy beans. He gave 3%- kg to his
wife and packed the rest equally into bags. If each

bag contained 4 kg of soy beans, how many bags
could he pack?




(e) Muthu reads 20 pages of a book in g day. After 6 days,

% of the book is still unread. How many pages are there

in this book?

(f) After % of a barrel of rice was eaten, 10 kg of the rice

was left. How many kg of rice would be left after % of
it had been eaten?

i e te_L{rﬁi_téd_-_' S o RN : e




(g} Andy has 7% gt of fruit juice more than Molly. Molly
has 3% qt of fruit juice less than Sami. Sami has 13% qt

of fruit juice. How much fruit juice do Andy and Molly
have altogether?

(h) Jim gave —% of his stickers to Leroy and % of them to
Rani. He had 21 stickers left. How many stickers did he

have at first?

" ©2008 Marstall Cavendish Iitemational (Singagore) Priva
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Molly

as 133 qt
- 3

d MO“y
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Unit 5 : Perimeter, Area and Surface Area

Square Units

1. Find the area of the shaded figure.

Tcm

e ———

Ll
The area of each 11em

is Tcm?. o The shaded figure

covers 8 D

pore) Privata Limi cL



2. Find the area of the shaded triangle.

A Tcm

Tem

D

Area of square ABCD =16 cm?

Triangle ABE covers 4

Triangle EDC covers 4

e

Area of triangle ABE = 4 cm?

Area of triangle EDC = 4 ¢cm?

.. Area of the shaded triangle

'-.P;iﬁ_l&ry‘ Matheratics .'Sfu_mfﬁrds-E(i_il[on)i_Extfu'Pfu_;isﬁe: 5 i




ofal (

" Method 1:

Rectangles and Squdres

Find the area and perimeter of the figure.

w. _ _12cm

2cm

| find the total area of g
rectangle and a square.

Area of rectangle =12 x 3
=36 cm?

rea of square=2 x 2
=4 cm?

:_Areu of figure =36 + 4
| =40 cm?

: "':Liﬁ].ited_:' R



| subtract the area of the 2
small rectangles from the
area of the big rectangle.

2x5x2
2 %10
20 cm?

Area of 2 small rectangles

Area of big rectangle =12 x5
60 cm?

Area of figure =60 — 20
=40 cm’

| add the lengths of all the
sides of the figure to find
the perimeter.

—12+3+5+2+4+2+2+5+3
34 cm

Perimeter of the figure

&'2008 Marshail Cavendish lintgrriatior
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Area of a Triangle

""Area of a trfcmgle --5—2~ X base x height

| _f:The base of cz tr;ang!e IS perpendlcuiar to its he;ght

1. Find the area of the triangle shown.

Base of the triangle =6 cm
Height of the triangle = 4 cm (:%3

6cm

Area of the triangle :% X6 x4

=12 cm?

Find the shaded area of the rectangle.

2cm%
12 cm

Shaded area = areq of rectangle — area of triangle
=(12x3)~[2x12 x 2]
=36—12

= 24 ¢cm?

P_finiu'ry_Mé_fhén_idﬁcs'{'S'_f.qn{f't_i'r.d'_s:fditib’_n). Exird Prumce 5



Area of a Parallelogram

Area of a parallelogram base >< height
of a parai_lelogrom is perpendlcu!ar to ltS he!ght

The base

1 Find the area of the parallelogram shown.

10 cm
Base of paralielogram =15 cm O

Height of parallelogram = 10 cm

15 cm

Area of the parallelogram =

5 Find the area of the parallelogram shown.

Height of parallelogram = 16 cm

Base of parallelogram =12 cm O _
O
)

ﬁ2 cm

Areaq of the parallelogram

‘@ 2068 Marshall Gaveridish Interiiational (Sirigapars) Priva
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surface Areq

ff-fThe surface area of a recmngular prrsm is the sum of the area
of ¢ aII of its faces. . - g

_'_:_::We ccm use the net of a rectaﬁguiar prlsm to ﬂnd its surfq,ce
:'_":G!’GG | SRR S .

Find the surface area of the cube.

Z2cm

The net of a cube is made up
of six identical square faces.
Area of one face = (2 x 2) cm?

Surface area =6 x (2 x 2)
=6x4

s R s




5 Find the surface area of the rectangular prisrm.

/'_

The net of the
- rectangular prism
gcm | is made up of
three pairs of
rectangles. Each
pair of rectangles is
identical in size.

20 cm

Area of top and bottom =2 x (20 X 8)
=320 cm?

Area of front and back =2 x (20 x 10)
=400 cm?

Area of both sides =2 x (10 x 8)
=160 cm?

Surface area = 320 + 400 + 160
= 880 cm?

-'Primi_l.:fy' Mathematics '(S:i'i:_q&u'rds_ Edition) Extra Proctice 3. - - N ;



S Name: Class: Date:

Exercise 1: Square Units

1. Find the area of each shaded figure.

(@) -

net of the
ngular prism
de up of
‘pairs of j |
EdngleS. chh e R




5 Find the area of each shaded triangle.

(a) JemP

-
o
%&v

iy




Class: Bate:

Exercise 2 : Rectangles and Squares

1. Find the area of each of the following figures.

(@)




2. Find the perimeter of each of the following figures.

4cm

(@)

e
e ; e
e

-
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I Name: Class: Date:

Exercise 3 : Area of g Trian

1. Draw the height to the given base of each triangle.

(G) (b) base
base :\\\\v////7
(©) E (d)

base

C
Thebaseis___ . The base is

H

j{
K.
Fuﬂé%iﬁ:

Thebaseis___ . The base is

Rgapine) Prival



Find the area of each triangle.

<k Intemationad (Singap



4. Find the areg of the shaded portion in each figure.
—

(a) . 4cm

—

4cm|

(b) S cm

4cm

2cm 3cm

maics (Sfumfurdsfdmon} E:’kird: Pract
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Closs:

Exercise 4 : Area of a Parallel

Find the area of each parallelogram.

(@)

- primory Mathematics (Standards Edition) Extra Prach




2 Find the area of the shaded portion in each figure.

~
T
VAl sa e
e

-
W
.
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Name:

Class: Date:

Exercise 5 : Surface

reda

1. Find the surface area of each of the following solids.

(@)




6 . R@té@

Finding Ratio

~ Ratio is a comparison of two or more similar quantities.

- There are 4 pencils and 3 rulers.

4 pencils to OOO

3 rulers

.rm;anlnu!nn(uuuqnl- ‘numiH]

[T
W‘T"‘"Wrw

SN

_ . We read the ratio
The ratio of the number of pencils 4:3asdto3

o the number of rulersis 4 : 3.

quivalent Ratios

tio has no umts

n We divide or muit;ply both quantltaes in a ratio by the
ame _number we obtain equivalent ratios.

Find an equivalent ratio for 4 : 6. 2 : 3 is the simplest
46 formof 4:6.

=2} |2

2:3

2: 3 is an equivalent ratio for 4 : 6.

o iorial (Singap Jnternational {Si é'a:?ﬁé)f’_f'?‘{?‘.e L_i”"?t‘ad. L :Pﬁm‘ﬁqfMnthe'rm'!'ﬁti?(St{'lﬂdiﬂ"d':i.-E'cl'it'ip'ri)j E:"(frq"_l?'rucﬁ'ceS-_




> The ratio of flour to sugar used to make a pieis 5: 4. if the
weight of flour used is 300 g, find the weight of sugar used
in making the pie.

300g
—

Flour

Sugar

—
?

5 units=300¢g

Tunit=60g

A units=240g¢

The weight of sugar used is 240 g.

Combining Three Quantities

The number of children to the number of men to the number
of women at a concert is 1: 3 : 4. If there were 320 people
altogether at the concert, find the number of men at

the concert.

Children

Men > 320 people

Women

8 units = 320

Tunit =40

3 units = 120

There were 120 men at the concert.




Name: Class: Date:

4.ifthe | Exercise 1 : Finding Ratio

1. Fill in the blanks.
(a)

The ratio of the number of boys to the number of girls
is

The ratio of the number of girls to the number of boys
is

=S Q\\ Ny -..ﬂx\\\lﬁ'

The ratio of the number of chicks to the number of
ducklings is

The ratio of the number of ducklings to the number of
chicks is

F:r_im_ury"Md_:h_em_qt!_c_s__( Ste



(C)foxv/yxXXfJx

XJJ%’JXJXJ%XX

The ratio of the number of ticks to the number of crosses is

The ratio of the number of crosses to the number of ticks is

@ (OO ééé
)

er of apples to the number of

The ratio of the numb

-

2

pedars is

The ratio of the number of pears to the number of

apples is : i

© O0000
JAVAVAVAN

The ratio of the number of triangles to the number of

circles is
The ratio of the number of circles to the number of

trianglies is




17 Name: Closs: Date:
Y w T

———————

Exercise 2 : Equivalent Ratios

rof crossesis 1. Write each ratio in its simplest form.

(@) 4:2 = (b) 8:14=
ber of ticks is (© 14:42= (d) 25:55=
(e) 35:30= (f) 22:33=

(9) 72:45= (h) 56:28=
(i) 36:63= () 100:20=

Write the missing numbers,

(@ 1:3=3.___ (b) 2:5=6-
or of (©) 3:4= : 20 (d) 4:7= 1 49
(e) 5: =25:30 f 6: =60:10
(9) :3=32:12 (h) :9=49:63
of M 4: =44 :121 () 3:5= £ 60

Do these. Show all your work clearly.

(@) Amber has 15 stamps. Molly has 20 stamps. Find the
ratio of the number of Molly’s stamps to the number of

Amber’s stamps, EXpress your answer in its
simplest form.

ber of



and 1h on singing. Find

(b) i spent 1h10 min on drawing
ging to the time taken

the ratio of the time raken for sin
for drawing.

(c) The sides of two squares are 2 m and 4 m respectively.
Eind the ratio of the ared of the smaller square to that

of the bigger square.

and 15 childrenin @ bus. What is
of children to the total number

(d) Thereare 25 adults
the ratio of the number

of passengers?

he ratio of the ared of the

(e) Inthefigure below, find t
haded part.

shaded part to that of the uns

2008 Marshs ‘Caverish Interrational (singapore) ™
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ging. Find

(f) My uncle is 3 times as old as | am. What s the ratio of
e time taken

my age to my uncle’s age?

espectively.
are to that

(9) The length of g rectangular piece of paper is 22 cm. Its

width is 16 cm. What is the ratio of its width to its
perimeter?

16 cm

us. Whatis | 2
total number’

22 cm

(h) The ratio of the lengths of two pieces of String Aand B

is1: 4. String A is 5 m long. Find the total length of the
two pieces of string.

ea of the 5m

String A

swings| | | ||




s in the ratio 4 : 7.

A wire was cut into 2 piece
th of the

The longer piece was 42 cm. Find the leng
shorter piece.

]

240 rubber bands were shared between Al and Shide
in the ratio 5 : 3. How many fewer rubber bands did

Shide receive than Ali?

Ali

Shide

ies (Stardards Edition). Exira Praciice 5.0 © 2008 Varshall Cavendisn Infemationl (Sirgabar




The ratio of the number of bowls to the number of

cups to the number of plates is

!un’uu' unuuu‘nu-luuplu}!ﬂ'ﬂ]

J“Hlmu}iﬂli HlnIaln‘luulinillll‘ll

The ratio of the number of pencils to the number of

rulers to the number of scissors is

The ratio of the number of ants to the number of

ladybugs to the number of bees is

: "Singaﬁofe)'Pﬁv'at.é_'ur_ﬁited_:'.'_:;_- Gl




(d) Abel, Barry ahd Chand donated money to charity in the
ratio 3+ 5 1 6. Chand donated $240 more than Abei.
How much did Abel, Barry and Chand donate altogether?

Abel [ [
Barry [ [
chand [ [ | 1T 1|

T ——

$240

(e) Grant split $11.340 among his three sons from the
eldest to the youngest in the ratio 5:3:7. How much
more money did the youngest son receive than the
eldest son?

tstson ] 1 ||
ondson| | [ | $11,340
3rdson [ [ | ]

L___,_Y__.—J

$?

A right triangle has a perimeter of 90 cm.
The lengths of its three sides are in the ratio 5:12:13.
Calculate the length of the longest side of the triangle.

Side AC T 1 [
SideB[ [ 1 T T [ L1111 ocm

Sidec [T [ 1 1 1 [ 1T TT]
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rity in the
Abel.
altogether?

Tenths, Hundredths and Thousandths
’I ohe = 10 tenths -
Ttenth= -10 hundredths
1 hundredth = 10 thousandths

1. Write 42 tenths as a decimal,

42 tenths = 40 tenths + 2 tenths
=4 ones + 2 tenths
=4+0.2
=472

Find the value of the digit 6 in 2.563.

2.563 =2 ones 5 tenths 6 hundredths 3 thousandths
=2+05+0.06+0.003

The digit 6 is in the hundredths place.

The value of the digit 6 is 0.06. (2 563 has 3 decimal
places. The tenths place,
hundredths place and
thousandths place are
called decimal places, )

pore) Private Limited " 01010 o :P__rimar'y‘_l_\é' .'eﬁaﬁric's'(Sidﬁ&u;ds Et_fiﬁmé)'E‘x_f_i‘d Praclice




3. What number is 0.001 more than 5.083?

5.083=5ones+ 3 hundredths + 3 thousandths

0.001 = 1 thousandth
2 thousandths + 1 thousandth =4 thousand

5.084 is 0.001 more than 5.083.

4. ‘Which is smailer, 8246 or 8.2322

3 hundredths is smaller than 4 hundredths.
So, 8.232 s smaller.

Which is greater, 51.378 or 51.3792

9 thousandths is greater than 8 thousandths.
So, 51.379 is greater.

‘& 2008 Marshall Cavandish iismational (Sgapore) el
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Approximation

- Toround a decimal to the nearest whole number, we lock at the
~digit in the first decimal place. if it is 5 or greater, we round up;
ifitis less than 5, we round down.

Round 4.2 m to the nearest meter.
rest me The digit 2 in the first

l decimal place is less than
4.2 5. 50, we round down.

- To round a decimal to 1 decimal place, we look at the digit in
- the second decimal place. If it is 5 or greater, we round up; if it

isless than 5, we round down. -

2. Round 6.28 to 1 decimal place.

l

6.28 The digit & in the second
decimal place is greater
6.28~6.3 than 5. So, we round up.

8 MarshallCeiandish Intornational {Singapare) Privata Limited R + - Primary Mothematics {Standards Edition) Exfra Practice 5




L

10.845 The digit 4 in the second

decimal place is less than
5. So, we round down.

10.845=10.8

To roundadedmalto 5 decimal places, we look at the digitin
the third decimal place. If it is 5 or greater, we round up; if itis

4. Round 15.649 to 2 decimal places.

L

15.649

The digit 9 in the third
decimal place is greater
than 5. So, we round up.

15.649 = 15.65

5 Round 103.821to 2 decimal places.

103.821= 103.82 )
103821 1O
O




Add and Subtract Decimals

1. Add5.84 and 6.78.

| Addthe
|* hundredths. -

2. Subtract 4.29 from 7.03.
B

. e 9 13

ety

425
1

Subtract the Subtract the S'ubtract the
hundredths. /" tenths. = -.ones.

Estimate and then find the value of 2.2 + 4,95,
22+495=2+5

=7
22+495=7.15

Estimate and then find the value of 8.05 — 3.47.

8.05-3.47=8.10 — 3.50
=4.60
8.05—347=458

2008 Marshall Cavendish Intermationa! (Sivgapores Private Limitgel: - Primary MuEh’emuﬁt§(Siun&d.r.dﬁ'fdition}'Eﬁi'r'u Pracice 5.




T
b
R = 4. 8
Multip'l‘y the g“ Muitlpiy the
hundredths | B tenths by 4. 2

0 i
1 - .k% | 1 5 '
| ; . 15
Divide 31 ; Dl\/ide 15
tenths by 5. f hundredths by 5.

3. Estimate, and then find the value of 3.12 x 4.

312 x4=3x4
=12
312 x 4=12.48

the value of 15.8 + 8.

4. Estimate, and then find

Peimary Mathematics {Standards Edition) Exivo Proctice 5 - ©2008 Marshal Cavendizh internaiionial (Singapers




2

Multiplication by Tens, Hundreds or Thousands

:”_:-The value of a decimal is increased 10 times when muitiphed
by ’!O

Multiply 0.425 by 10.

0.425 x 10 =4.25

Multiply 0.425 by 20.

0425 x20=0.425%x2x10
=0.85 % 10 When a decimal is multiplied
_ by 10, we move the decimal
=383 point 1 place to the right.

" The value of a decimal is increased ’EOO times when multiplied
by 100:

Multiply 3.806 by 100.

oF
3.806 x 100 = 380.6 O

When a decimal is multiplied
by 100, we move the decimal
point 2 places to the right.

Multiply 3.806 by 500.

3.806 x 500 = 3.806 x 5 x 100 Q

=19.03 x 100
=1903

.éa.i\_;;l.a'%s.,h'afi' éa\iéhdisﬁ'fnt_erna:ﬁdnal {Sirigapore) Pri\}rate_-'Li'rﬁitéd:. IRTREE : :.3 : Prlmun/ Mmhemﬁhcs (Sfﬂﬂdﬂl’ds Edl'lﬂﬂ’ E).(f.m.PI'ﬂE.ﬁf&S-




" The value of a decimal i< increased 1000 times when multiplied

5. Multiply 4.782 by 1000.

_ O°
4.782 x 1000 = 4782 @ O

When a decimal is multiplied
by 1000, we move the decimal
point 3 places to the right.

6. Multiply 0.365 by 6000.

0.365 x 6000 = 0.365 % 6 x 1000 m OO0
=2.19 x 1000 Q

=2190

Division by Tens, Hundreds or Thousands

The value of a decimal is reduced 10 times when divided =
s wee a ded i

1. Divide 0.89 by 10.

0.89 + 10 =0.089

When a decimal is divided
by 10, we move the '
decimal point 1 place to
the left.

7 g 2008 Marshall Cavendisn International (ST :
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2. Divide 52.5 by 30.

525+30=525+3+10
=17.5+10
=175

tiplied
decimal
jht.

by ’!OO

3. Divide 18.8 by 100.

4. Divide 27.9 by 900.

27.9+900 =279+9+100
=3.1+100
=0.031

The vaiue of a decsmal iS reduced 100 times when dawded

18.8 =100 =0.188 JS

)00,

rWhen a decimal is
divided by 100, we
move the decimal
point 2 places to

the left.
N

%
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The value of a decimalis educed 1000 times when divided

by ’EOOO
5 Divide 62.7 by 1000. m ole
62.7 = 1000 = 0.0627 When a decimal is
divided by 1000,

we move the
decimal point 3
places to the left.

6. Divide 49 by 7000.
OO,

49 +7000=49+7+ 1000
=7 +1000
=0.007

Multiplication by @ 2-digit Whole Number

Multiply 6.80 by 15.

£.80 x 15 = 6.80 x 10 +6.80 X5
— 68.0 +34.0

=102

6.80=7
6.80x%x15=7 x 15
=105

lose to the estimate.

The answer is reasonable as it is C

}E)d:m Practice 5 T S ea008 Ma’_r's’han"(::a'v'aé_\dish_'_z'ntérnaﬁ'o'n
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Division by a 2-digit W

Divide 61.44 by 24.

Estimate:
6144 =24 =60+ 20

Multiplication by a Decimal

When a decimal is multiplied by 0.1, we move the decimal
point 1 place to the left.

1. Multiply 25.6 by 0.1.
assnon (3560, \

When a decimal
256 x0.1=2.56 is multiplied by

0.1, we move the
decimal point 1
place to the left.

-@IZODHIMafs'héH Cavéndis'ﬁ Er_atematiéﬁéi {Si’ngépqre} Private Li'n_-lite'ci:" : . R S
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2. Multiply 34.2 by 0.5,

342 x 0.5=34.2 x5x 0.1
171 x 0.1
=17.1

1!

When a decimal is multiplied by 0.01
point 2 places totheleft. Ty

3. Multiply 3.8 by 0.01.

ﬁ

3.8 x 0.01=0.038 When a decimal
is multiplied by

0.01, we move the
decimal point 2
places to the left.

4. Multiply 42.8 by 0.05.

42.8 x0.05=42.8 x5 x0.01
214 x 0.01
2.14

il

5. Estimate, and then find the value of 8.2 x 0.09.

8.2 x 0.09=8 x 0.09
=0.72

82 x 0.09=8.2 x9 x0.01
=73.8 x 0.01
0.738

: @ZUOB WMarsiiall Caveiitish (ntarational (Singapo




Division by a Decimal

1. Divide 49,28 by 0.7.

4928 +0.7=4928+7 OO

2. Find the value of 8.648 = 0.88 correct to 2 decimal places.

8.648 +0.88 =864.8 + 88

{Stands ds_Edf_f_ibn} Extra Practice 5




6+ 0.55.

f 248

@]
]
=
]
>
e
A
o
e
o

and then f

Estimate,

3

= 0.5

0.55 = 250

-
o
e

248.6

=55

= 0.55 = 24860
452

248.6

e

e

et
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Name: Class: Date:

Exercise 1: Tenths, Hundredths and Thousandths

1. Write a decimal for each of the following.

(a) CECT T

5 tenths =

43 hundredths =

3 tenths 8 hundredths =

7 thousandths




1 one 4 tenths 8 hundredths = ————

o @@E GO
OOCCS,

5 hundredths © thousandths = ——————

(e) 7 tenths 2 hundredths 3 thousandths = B—

(fH 8 tenths 1thousandth= —————
(g) 4 ones 3 tenths? thousandths =

(h) 6ones 5 thousandths = ——————

3. Fill in the missing fraction in each of the following.
(@) 0.26="= (b) 13=1+
(c) 247=2+ (d) 409=4+

(e) 5271=5+02+007+

(f) 38.209=38+

e 2008 I\(iarsﬁa}%_' Cavendish 'é'ntarri.'ai:ionél '(_Si_ngapcr ¥ Priva




4. Fillin the missing decimal in each of the following.

(@ 0.4+0.08= D (b) 4+02= D
(©) 0.81+0.2 :D (d) 357+5 :
(€ 7.123=7+0.1+0.02 +D

(f) 19.024=19+ D

Look at the table below and fill in the blanks.

(@) The number 6.215 is made up of ones,
tenths, __ hundredths and
thousandths,

In6.215, thedigit____ isin the hundredths
place. The value of the digit is

Thedigit_____isinthe thousandths place.
The value of the digit is

Thedigit_____ isinthe tenths place. The value
of the digit is

aics (Si&ndurdﬁ" Ed'ii:i:u'n)_ Exirg Pru fic




6. \Write the missing decimal in each box.

(i) (iv)

(a) ® (i)

(iv) %

(b) ® @ G
4.31 é # % 445
A4

4.3

(i) (iii) (iv)

(©) @) .
3.051 3.055 & 3.059£ 3.062 %

7. Fillinthe blanks.

(a) i< 0.001 less than 1.9.

(b)

(c) 1lis 0.001 more than ——————

i< 0.001 more than 1.99.

(d) 1.999is 0.001 less than ————

i Cavendish erational (Singapore)
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8. Circle the smallest number in each set.
(a) 4.105,3.102 (b) 10.2,10.199

(© 1.1, 11.111 (d) 8.01,8.001

(e) 7.15,7.105, 7.015, 7.1 () 0.98,0.988, 1, 0.01

(g) 658.1,65.81,0.658, 6.581 (h) 0.5,0.005,0.05,5

9. Arrange the numbers in each set in decreasing order,
(a) 8.808 8.08 8.88 8.088

(b) 3.2 3.19 3.196 3.025

10. Express each fraction as g decimal.

(@) £= (b) 3=

WthomarcsSrndods o) xr P




11. Express each decimal as o fraction in its simplest form.

(@) 1.6= (b) 0.08=

(d) 5.002=

S
Sy

: anury dish ;nt.é.r.né.tiohai (S r_ig'a_po_rg) .F‘
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Class: Daie:

Exercise 2 : Approximation

1. Round off each of the following to the nearest whole number.
(a) 2004 km=___  km

(b) 3235km=____ _km

(©) 0.801/=

(d) 18.6 =
(e) 5.15kg =
(f) 7.734kg=

(g) 9.099cm=

(h) 10.55cm=___ _  ¢m

Round off each of the following to T decimal place.
(a) 0.23

(b) 4.07

(c) 5.451

(d) 13.609

(e) 20.764

- Primary Mothemafics {Standaids Ediion) Exra Pracice 5




(g) 33.038

(h) 25.95

3. Round off each of the following to 2 decimal places.

(o) 3.146

(b) 8432 —
(©) 1054
(d) 0.005 -
(€) 12307
(F) 15243
27.091

39.918

Primary Mu!_hemag.icé: {Sfund_u'r&s E_dq' ion) Extra Pracice '5_: @208 Marsball pa_vénq_ish_ infernational (Singapare} 5
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Closs: Date;

Exercise 3 : Add and Subtract Decimals

Add or subtract.
() 1.032+0.1=

(b) 5.174 +0.04 =
(©) 2.26+0.002 =

(d) 4.076+0.003 =

(e) 6.505+0.05=

(f) 3.651—05=
(g) 7.263 —0.06 =
(h) 8.149 —0.008 =
() 5.3—0.01=

() 5.3—0.001=

Write the missing number to make 1.

(a)

1




7 o
e

0.007

alue of each of the following.

3. Estimate, and then find the v

(b) 21.05+14.71

S
.

e
L
-

e
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wing.

Class: Date:

hole Number

Exercise 4 : Multiply and Divide Decin

1.

Muitiply or divide.
(a) 453 x3=

(b) 8.79x8=
() 56.7+7=
(d) 936 +4=
(e) 405x9=

() 63.92=8=

Estimate, and then find the value of each of the following.

(@) 315x5=3x5 (b) 5.6x7=

u

() 7.8+4 (d) 16.2+4=

i mﬁ'r"y':Mﬁi:h.ér'ﬁu_riscs ('f.tu:;.ld_ur'd's_'E_di_t_ieﬁ) i Pr




3. Express each fractionas a decimal correct 1O
1 decimal place.
5 _ 1.
(@) 5= () 5
1 7
(©) .'-:%—9—z (d) 2-§=
L

tion as a decimal correct 10

4. Express each frac
2 decimal places.

(@) 3~ ) &=

10 .
(d) 479=

7008 Marshell Cavandiéh (fernationa (Bing
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Name: Class: Date;
- —_——

Exercise 5 : Multiplication by Tens,
Hundreds or Thousands

1. Complete the following table.

FNumber B x 10

(a)| 0.5

0.29

3.25

7.018

5.367

10.401
L

2. Fillin the missing factors.
(a) 1.35x =135 (b) 1000x____ =70p
() 205x__ =2050 (d) X 3.756 =37.56
(e) 5183x___ =583 f) —  x0.068=68
(9) 4.002x_____ =4002 ) ——  x66=6600

() M26x___ = 1,260 () __  x001=1

0 0137x___ =137 g x 21.9.=2190




(g) 0.15x300

1.25 x 700 () 2.04x600

pr—
J—

15.5 x 400 () 0.007 % 2000

ot
i

0.039 x 5000

e
L
-

/
S
-
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Class:

Date:

Exercise 6 :

or Thousands

1. Complete the following table.

(a)
(b)
(©
(d)
(e)
()

(@)
(©
(e)
(9)
(M

(k)

Number +10 +100 +1000
1452
63
5
2007
381
79
2. Fill in the missing factors.
34 + =0.34 (b)
123 + =12.3 d
8.4+ = 0.084 fH ____ +100=0.275
70.4 + =7.04 (hy
99 + =0.099 G ____ +10=09
2620 + =262 () _____ +10=0.01

rshall Cavendish International (Singagore) Private Limitéd: 1+

Primary Mothemaics {Sandards dtion] Evira Pracice 5.

+ 1000 =0.06

+ 1000 =0.418

+ 1000 =3.04




Divide:

(a) 3.6+30 (b) 0.14+20
~1.2+10 -

(©) 19.52+40 (d) 285+60

(e) 170+ 50 (f) 165.6+80

(h) 12 +600

(m)

(o)




Class:

Exercise 7 : Multiplication by a 2-digit
Whole Number

1. Estimate the value of each of the following.

(a) 12.08 x19 (b) 19.74 x 22
=10 x 20 =

() 21.05 x 38 42927 x 58

gt -

(e) 315.9x 48

o

(g) 61.65x%x69 0.98 x 71.48

L -




(e) 0.06 %35

o '3*%62%52’@;
e
.

-
4‘
- @

PILRES
i
A
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(g) 9.7 x97

(h) 6.2x58

(i) 15.6x42

G) 27.03x66




() 136.5 %31

e

M R :

(n) 390.2x 18

(m) 207.1x 24

© 3008 Marshall Gavendish ntgmational (Sin
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Exercise 8 : Division by a 2-digit
'hole Number

1. Estimate the value of each of the following.
(a) 287.5+46

o]

(b) 183.4+48

ot

2. Divide.
(a) 498.75 <95

(b) 926.35+97

PrrmuryMuthemuhcs(SiundurdsEd !




3 Find the value of each of the following correct to 2 decimal

places.
(a) 68.5+47

(b) 0.395+18

(© 723.2+35

(d) 46.98+51

@.2920.3 _M"ars'haii CaVé'ﬁdish Internationdl '(Singaﬁor_e_:) 31
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Exercise 9 : M

1. Multiply.
(a) 16.5%x0.9

(b)

()

50.15x 04

0.25x0.2




2. Multiply.
(a) 19.2x0.03

@)OAXO@6

() 32.5x0.08

(d) 8.6x0.09

(€) 64.1x0.01

() 0.5x0.05

(g) 27.8%0.65

(h) 10.3x0.17

oy Mathematics (Sandards Edion) Biro Pratiice 5 - (2008 st i ematona (S



Class:

] L)

Exercise 10 : Division by a Decim

:
. 1. Divide.
(a) 800 +0.01

(b) 6+0.001

(c) 4.684+0.2

e SV

(d) 72.9+0.08

(e) 96.45+0.03

(f) 52.44+04

(g) 25.42+6.2

(h) 630.8+152




2 Find the vaiue of each‘of the following correct to 2 decimal

places.
(a) 883+ 6.3

& 2008 Marshiall Gavéndish Inteinatonal (sing'apore_}_énva
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Measures and Volum

o Conversion of Measures

g;fO Trn= =10cm  1ft=12in.
i 00Tm=1T¢cm |

1 km =1000 m

Express 3.75 km in meters.

3.75km =3.75 x 1000
=3750m

Express 42 in. in ft.
in. =342
42 in. = 5 1t

_ 31
—-3th

| 1kg=1000g  1lb=160z
19=0.001kg SRR

3. Express 320 gin kg.

32
320g = ’IOO(()) kg

rehall Cavirdih itemationsl (Siaasins p'-vggé:tign'ngg;*_}-._;'_ i y Mdﬁ'}éhﬁﬁ'ﬁ-'(gfdﬁdu;gs}gdiﬁgn)'Exfmfp;,,}ﬁ( )




4. Express 64 0Z in ib.

_64
64 0z =72 b

=41b

14 =1000 mi
1gal=4qt
Tat=2pt
1gt=4c¢

5. Express 0.58 £in ml.

0.58 x 1000 mi
580 ml

0584

6. Express 10 gtin gal.

10 q’c::—grQ gal

WW%@Q

dn
&NMV’Q@% Y
e

=2.5 gal

e
e

T

7. Express 84 ptinqt.

T
Fi e
L

"

= __ g4 pt =2 qt
=42 qt

©2008 Marshall Cavendish sn'terr_]sitiqnat(si_hga
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Volume of Rectangular Prisms

- The volume of a solid is the amount of space at occuples
The volume ofa unit cube is 1 cubic unit. - |

Each edge of the cube is 1 cm long.
The volume of the cube is T cubic centimeter (cm?).

Tcm

Tcm

Tem

: _'The cubic centimeter (cm?) is a unit of volume.
 The cubic inch (in.3), cubic foot (ft3) cmd cubac meter (m3) are
.-':._fother um’ts of voiume (R0 ._

f_f:Vqume of rectongular presm Iength X width x herght

Find the volume of the rectangular prism which measures
18 cm by 20 ¢cm by 10 cm.

Volume of rectangular prism = 18 x 20 x 10
=3600 cm?3

Find the height of the rectangular prism which has a base
area of 24 m? and a volume of 120 m3,

volume
base area
_ 120
T 24

Height of rectangular prism =




£ind the volume of the cube.

Zcm
2 cm
12 cm
Volume of cube =12 x 12 X 12

=1728 cm?

4. A rectangular container which measures 24 cm by 18 cm

by 10 cm is % flled with water. Find the volume of water in

the container.

Volume of water in container ::% x (24 x 18 x 10)

= 3240 cm?®

5 A rectangular tank 16 cm long and 15 cm wide is filled with
water to a depth of 8 cm. If 240 cm?® more water is needed

to fill the tank, find the height of the tank.

Volume of water in tank = 16 x 15 x 8
=1920 cm?

Volume of tank =1920 + 240
=2160 cm?

- _ 2160
Height of tank === 75

=9 cm

3008 Marshiall Gavendish Inteiri
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Class: Date:

Exercise 1: Conversion of Measures

Find the equivalent measures.

(@) O5kg=___ ¢

(c) 0.045km=

(e) 0.095/=

(g) 0.043kg=

Find the equivalent measures.

(@) 1.35km= km

(b) 3.05/¢=

(c) 2.004 kg =

(d) 48m=

(&) 0.035km=

(f) 5.07m=

(g9) 4.016 /1=




3 Find the equivalent neasures. Express each answer ds d
decimal.
(@) 3£200 ml = {
(b) 5moécm= m
() 2km72m= km

(d) 4kg400g= kg

1
3

(e) 2m>52cm

) 6kmim= km

(g) 4£35mi= 14

kg

(h)y 3kg208g=

4. Find the equivalent measures. Express each answer as d

decimal.
(a) 7.3cm= m

kg

(b) 98g=

e
Son e

() 267 ml=
(d) 304m=
(&) 1502 ml
() 2008 m

(9) 30649=

(h) 4170 cm =

2008 Marsha _(i‘_a\'fe_ndlsh_lnterrj siorial (S
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Class: Dafe:

Exercise 2 : Volume of ectangular Prisms

Each rectangular prism is made up of T-cm cubes. Complete
the table below.

(a) (b) \ \]

Rectangular
prism

A

B




5. Find the volume of each prism.

.
o e

i

- Primqr'\)_.Mﬁthﬁmﬂhts' (Sidnd'_u;_d's Edili_uﬁj_ﬁtra’l‘fqdi_cﬁ 5.




3. Find the volume of each prism.

(a)

Area=32in.2

Area = 25 ft?

4. Find the volume of the water in each container in cubic
centimeters.




5. Find the volume of the water in each container in liters.
(1¢ =1000 cm®)

(a)

Area =170 cm?

6. Find the length of the unknown edge of each rectangular :
prism.

(a)

15 cm

Volume = 1800 cm?

Area=170cm?

Volume = 1360 cm?

L

'Pri'm_ Ty _Mu.'ihemuﬁ:c's .(Stﬁminr'ds Edition] ExiruPrumce 5 o




/. How many rectang

build each of the following rectangluar prisms?

(a)

-

ular prisms of edge 3 cm are needed to

I

L

6cm

8. Find the height of each rectangular prism.

(a)

Volume =300 cm?

10 cm

Area =48 cm?

Volume =576 cm?

?




9. Do these. Show all your work clearly.

(a) The volumeofa rectangular prism is 189 in.%. What is
its length if its height is 7 in. and its width is 3 in.?

(b) A rectangular tank is 25 cm long, 16 cm wide and |
30 cm high. It contains 8 £ of water. How many more.

liters of water can it contain? (1£ =1000 cm?)

.
SN S
.
SNy

e
mv\ R




hat is

ore

(c) The volume of a wooden block is 1200 ¢cm?. Its length
is 5 cm more than its width. If its length is 10 ¢m, find
its height.

(d) A rectangular can of base area 150 cm? and height
30 cmis filled with cooking oil. If 1500 cm? of the oil is
used up, how much oil is left in the can? Give your
answer in liters.




(e) Atank30cm long, 10 cm wide and 50 cm high is full
of water. If the water is poured into containers
measuring 5 cm long, 2 cm wide and 10 cm high, how
many such containers are needed?

A tank 60 cm long, 40 cm wide and 20 cm high is
half-filled with water. If all the water is poured intoc an

empty fish tank with a rectangular base measuring
48 cm by 25 cm, find the depth of the water in the
fish tank.

'P"m.ﬁr#. Mﬁt-he.’.“é_“.ész.(éﬁfﬂdurd's Edifion) _Extr:&:P.tddic'e'. i




his full { (9) Tank A, measuring 20 cm by 30 cm by 10 cm, is full of
e water. Tank B, measuring 30 cm by 50 cm by 10 ¢m, is

%fuil of water. Find the difference in the amount of

water in the two tanks. Give your answer in liters.

(h) 9liters of cooking oil are poured into rectangular
containers, filling each up to a height of 30 cm. The
base of each container measures 5 cm by 3 cm. How
many containers are needed? (1 £ = 1000 cm?3)




(i) A cubic tankof side 36 cm is half-filled with water.
How much will the water level rise when a metal block

of volume 5184 cm? is placed in the tank?

In the rectangular tank shown below, the volume of the
water and the iron ball is 19.2 £. When the iron ball is
removed from the tank, the water level drops by 5 cm..
Find the volume of the iron ball. (1 £ =1000 cm?)

iron ball




Unit 9 : Percentage

Percent

| A percentqge"; '_‘c; wc:zy of expressmg a fractuo" ':..Wlth a
| denommator of 100. Gl
A percentage |s-’m'd1c<:|ted by the symbol % (percent)

1. Write 13 out of 100 as a percentage. | 13% is another way of

. 13
13 out of 100 = 13% writing 755 or G.13.
Qut O = b

Express 15% as a fraction in its simplest form.

15% = 11050 We read 15%
as 15 percent.

-3
=50 NN

Express 88% as a decimal.
88% means

88 88 out of 100.

0f — 22

88% = 100

=0.88




riting Fractions das Percentages

36
Express 555 95 @ percentage.

Method 1:

36 _ 18
200 ~ 100

18%

Method 2:

36 _ 36 5
500 — 200 100%

=18%

Percentage of a Quantity
There are 45 children in a class. 40% of the children are girls
How many boys are there in the class?

100% — 40% = 60%

1 whole is 100%.

609% of the children are boys.

_ 60
60% of 45 = 100 x 45

27

There are 27 boys in the class.

4t Gavesidish ntermational (Singap



Class: Date:

Exercise 1: Percent

1. Ineach of the following, the whole is divided into 100 equal
parts. What percentage of the whole is shaded?

(a)

] (b)




Express each fraction as a percentage.

21 _
100

7 _
(@) 960 =

e e
e
W@fﬁ

RO
.

anae




3. Fillin the missing numerator or denominator.

_ — 2%
(@) 4% == (b) 29% =25

() 34% == (d)

() 56% == Q)

(9) 78% = (h)

() 6%=o- 0

— S0 —_
(k) 90% =-20. 100% = —

(m) 70% =79

(©) 3% =-3-




4. Express each decimdl as a percentage.

() 0.08= (b) 0.7=

008 Marsh Cavendist Intematt nal
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5. Express each percentage as a decimal,

(a) 12% =

(b) 2% =

(c) 27% =

(d) 41%=

(e) 42%=

(f) 58%=

(h) 75%=

() 88%=




6. Express each

percentage as a fraction in its simplest form.

(a) 35%=

(b) 10%=

Q) 24%=

(d) 48%=

(f) 53%=

(g) 67%=

(h) 1%=

(i) 76%=

G) 81%=

L

Primary Mu'%hemi_m_cs;(_s'mnddr_c.ls;Edilion).txtfd-I_’r.'udice.'s
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Name:

Class: Date:
.
Exercise 2 ; Writing Fractions as Perce

——

ntages

1. Express each fraction gs a percentage.

(@) &= (b) 2

15

—
fu—

L

2. Write each of the following as g percentage.,

—

(@) 6outof30 (b) 36o0utof90

(©) 35outof 70 (d) 60outof80




(e) 30outof50 (f) 15 outof &0

(g) 36 outof 200 (h) 40 out of 500
(i) 48 outof 300 () 98 out of 200
(k) 80 out of 400 () 75 out of 500

(m) 114 out of 200 (n) 244 outof 400

(o) 285 out of 300 (p) 185 out of 500

2008 Miarsfiall Cavendish Initernatisnat, (Singap



(b) 0.250fq ribbon was ys
Percentage of the ribbg

ed to decorate g lamp. What
N was used?




(d) 30 out of 40 students passed an examination. What
percentage of the students passed the examination?

7

(e) Ina fire, Mr. Pace saved 35 of his goods. What

percentage of the students passed the examination?

(f). If 20 kg of butter is mixed with 5 kg of sugar, what
percentage of the mixture is sugar?




(g) A shopkeeper had 240 watches. He sold 84 watches.

(i)  What percentage of the watches were sold?
(i)  What percentage of the watches were not sold?

(h) Stephanie spent 15% of her time on Science, 25% on
Mathematics, 40% on English language and the rest of
her time on Spanish language.

(i)  What fraction of her time did she spend on
Science, Mathematics and English language
altogether?

(i)  What fraction of her time did she spend on
Spanish language?




() Ata concert, there are 28 boys and 12 girls.
()  What percentage of the children are boys?
(i What percentage of the children are girls?

Cameron bought 3 m 50 cm of wire. He used 2 m

10 cm of it.
(i)  What percentage of the wire was used?
(i What percentage of the wire was left?




Class: Date:

Exercise 3 : Percentage of a Quantity

1. Find the value of each of the following.

(a) 8% of 250 cm (b) 20% of $1060
(c) 34%0of300g (d) 45% of 80 kg
(e) 50% of 750 m (f) 78% of 500 ml

Do these. Show all your work clearly.

(a) There are 385 people in a swimming pool. 60% of
them are children. How many children are there?

Primary Mathematic .('Stﬂn_durds .Ed.i.flo:n)'_._'Ex_.Tru- ?rﬁ;ﬂ_ce__S




(b) Of 88 students, 75% passed the examination.
How many students passed the examination?

(c) 20% of a class play volleyball. There are 40 students in
the class. How many students do not play volleybali?

(d) Caleb bought a television set which cost $1800. He had
to pay 3% sales tax on $1800. How much did he pay
for the television set including the sales tax?




{e) A camera costing $520 is sold at a discount of 25%.
What is the discounted price of the camera?

(f) Olivia borrowed $10,000 from a bank. The bank
charges 4% interest per year. If she took the loan for a
year, how much did she have to repay the bank at the
end of the year?

(g) A toy car which cost $96 was sold at a loss of 25%. For
how much was it sold?




(h) Hannah bought a watch ata discount of 15%. lts usual
price was $270. How much did she pay for the watch?

(i) The membership of a workers’ association this year
is 850. It is estimated that there will be an increase of
89% the next year. What is the membership expected to

be next year?

() A shopkeeper bought 100 bicycles. Each bicycle cost
$58. He sold all the bicycles at a profit of 20% each.
How much profit did he make from selling the bicycles?




Unit 10 : Angles

Measuring Angles

A protractor is used to measure angles.

N outer
scale

inner
scale

-

N
baseline center mark

1. Measure angle ABC.

Place the baseline

of the protractor on
the horizontal line of
the angle and make
sure the center mark
touches point B.

I T

/

A

L

nidish: Intarnational (Singapore) Private Limited:



2. Measure ZDEFR

W 20

Read the inner scale.

/DEF =60°

Finding Unknown Angles

: V'ertlc'qlly oppo.srte angles are e.quldl
--The sum of the Gngles on a straight Iune |s_180

1. In the figure, POR and SOT are straight lines.
Find (a) £POT , (b) £LTOR.

ZPOT and ZSOR
are vertically
opposite angles.

(a) £POT = /SOR
= 55"+ 65°
=120

@ZDG&M sh Cav Ll sh rigrmational (Slngapcre




(b) £TOR =180"—55"—-65° ZTOR, £50Q and
=60° ZQOR are angles on a
straight line.

2. Find Zp in the figure. The marked
angles meet at a

common point.

L

Zp =360°—100°—31"-75°—115" | The sum of the angles
—~39° that meet at g common

point is 360",




sum of Angles of a Triangle

The three angles of atriangle add up to 180,
1. Intriangle PQR, ZPQR =55" and ZPRQ = 62°. Find ZQPR.

P

/QPR =180 - 55" - 62"
63°

The exterior angle of a triangle is equal to the sum of its
interior oppositeangles.

2. Intriangle ABC, BC is extended to D, /CAB =74
and ZABC = 33°. Find ZACD.

D C

/ACD =74 +33°
=107°

on) Extra Prdfice 5 Cateridih ntermationsl (Sihgapore) Pl
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Isosceles and Equilateral Triangles

j.j-'-An !sosceies trtungle hcas 2 equal 51des The cengées opposrte
-_"'the equal s;des are equa! Sy _ .

1. Intriangle XYZ, XY = XZ, ZXYZ 34° and WXY is a
straight line. Find ZWXZ.

W
X

Y 34°

IXZY = /XYZ
=34°

LIWXZ =34° 4 34°
=68

An equelatemE trsqng!e hqs 3 equal SIdes qnd 3 equal cmgles‘.
_-Each cmgle is 60 o - i |

2. In the figure, EBD and ABC are straight lines.
Find ZABE.

A E

B ZDBC =60
ZABE = /DBC
=60°




Drawing Triangles

Draw a triangle XYZ in which XY =6 cm, YZ =4 cm
and ZXYZ =75°.

Step 1: Draw XY =6 cm.

6 cm

Step 2: Draw £XYZ = 75°. Measure and mark YZ =4 cm.

Z

6 cm

Step 3: Join Z to X.

Pm__ﬁury_Mnth'emuﬂc_ (Sfan'd_u. ds'E:ti'gtin:ti):'EX!.r&ﬁr_ti;ﬁ'ce_ _



um of Angles of a Quadrilateral
The angles of a quadrilateral add up to 360,

Find Zxin the quadrilateral.

78° N

100° 105°

£x=360"~78 — 100" - 105°
=77

rallelograms, Rhombuses and Trapezoids

'h.e_:OPDOSIte angles of a pqrcllelogrczm qre equal
"qch patr of angles betweeﬂ two pqrallel sudes add up to 180

. Flnd Zyin the parqllelogrom

YooY
g

110°

Ly=110°

£z=180"-10°
=70°

[ ($ivgepare) Priva e Primary Mathematics {Standards €



In trapezoid WXYZ, WX // YZ, XV = XZ and LYVX = 115°.
Find ZWXZ.

W X
/ “5/ \
Y g Y; Z

180° — 115° l
=65°
IXNZ
65°
/WXZ =180° — 65°
115°

LXNVZ

i

LXLY

Drawing Parallelograms and Rhombuses

1. Draw a parallelogram PQRS in which PQ =5 cm, QR=3 cm:._':.i_
and ZPQR =70".

Step1: Draw PQ=5cacm.

Draw ZPQR = 70° and mark QR = 3 cm.

o e
-



15| Step2: Draw PS // QR and mark PS =3 cm.

S R
3em 3cm
70°
P 5cm Q

Step 3: Join SR.

S R

3cm

P 5cm Q

_- 2. Draw a rhombus EFGH in which EF = 2 cm and ZEFG = 85",

3cm

Step1. Draw EF =2 cm and ZEFG = 85°.
Mark FG =2 cm.

n_r_qnr.i'[i'_Mﬁi_.ﬁ_gmqn_cs-..(§r'_d_ndq'_rc_|§: Edman) Extru ?f_'u?tig_e' 5.




Step 2: Draw EH // FG and mark EH =2 cm.

H G

2cm 2cm
85°

E 2cm F

Step 3: Join HG.

o e
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Name: Class: Date:

Exercise 1: Measuring Angles

1. Estimate and then measure the marked angles.

(a) (b)
/ b
© g\ | (@) /@'\
g

(e)

Angles a b C d e f g h

Estimate

Measure

- Marshalt Gavendish:



178}
<@
o)
c
S
c
@
Z

Measure the g

(

2

A

a)

2008 Marsball Cavendish International (SlngaporerF
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Class: Date:

Exercise 2 : Finding Unknown Angles

The following figures are not drawn to scale. Find the
unknown marked angles.

(b)




2. The following figures are not drawn to scale. Find the
unknown marked angle in each figure.

/,w/«/".. 7
-
-

.Pn_rﬁur_y Mqihem’ﬁl’




Class: Date;

Exercise 3 : Sum of Angles of a Triangle

The following figures are not drawn to scale. Find the
unknown marked angles.

(a)




© 2008 Marshall Cave d int_'emétioﬁa Singapare
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2. The following figures are not drawn to scale.
Find the unknown marked angles.

(@ 5 Find /STZ. | |

Find ZDBC.

Find ZGEH.




Name:

Exercise 4 : Isosceles and Equilateral Triangles

1. The following figures are not drawn to scale. Find the
unknown marked angle in each figure.

(a)




2. The following figures are not drawn to scale. Find the
unknown marked angles.

A

st
B
.

Pf_iﬁmry‘ Muiﬁéhuﬁ s_(.Stu_ndn_r'dé_ Edition} Ext_ru_l’rutﬁc_gés o L _' M e i Marshialt Cavendish Interriationat (Singapore) Privata L






3. The following figures are not drawn to scale. Find the
unknown marked angle in each figure.

(b)

e
e
o
-
e R A
S e
e

 Primaty M‘ufhelﬁath (_Stqnélu_fdﬁ___Ed]fi‘_nn)ﬁik!'rt_[ﬁPru"cﬁ'c 5
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Name: Class: Date:

Exercise 5 : Drawing Triangles

1. Draw atriangle ABC in which AB=8 cm, BC=4 cm and
ZABC =100°,

2. Draw a triangle XYZ in which YZ =5 cm, XZ =3 cm and
LXZY = 35°,




3. Draw a triangle DEF in which ZEDF = 70°, ZDFE = 40" and
DF=9cm.

4. Draw a triangle PQR, in which QR =6 cm, PR=10 cm and
ZPQR =90°.

Tt

.
=

-Pfs_m’ury' Mathemaics




Name: Class: Date;

Exercise 6 : Sum of Angles of a Quadrilateral

1. The following figures are not drawn to scale. Find the
unknown angles marked in each quadrilateral.




o
i o
SR
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Name:

Class: Date:

Exercise 7 : Paralielograms, Rhombuses

and Trapezoids

1.

The following figures are not drawn to scale. Find the
unknown marked angles.

(@)

(b)

ABCD is a trapezoid. Find /x.
B A
125°

A2

C D

ABCD is a rhombus. Find Zx.

B




(d) | ABCD is a parallelogram. Find Zx.
B . A
X
52°
C ] D

(e) | ABCD is a trapezoid. Find £x.
B




(h)

ABCD is a rhombus. Find Zx.
A

65°

ABCD is a parallelogram.
Find Zx.

B >

B




ids

Find Zx.

O
N
Q
Q.
]
| 9.
3=
@
S
o
,
L
O
)
]
o
1]
L
L1l
o
<

)

@

S ﬁkN o
L
e

£

o
e
-

.
.

o
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Noame: Class: Date:

Exercise 8 : Drawing Parallelograms
and Rhombuses

1. Draw a parallelogram MNOP in which MN = 6 cm,
MP =4 cm and ZMNO = 50",

2. Draw a parallelogram PQRS in which ZPSR = 120°,
PS=5cmand SR=3 cm.




3. Draw a rhombus WXYZ in which XY =7 cm
and /AWXY = 145",

4. Draw da rhombus ABCD in which BC =5.5 cm
and ZDCB =48°.




Unit 11 : Average and Rate

Average

We fmd the qvemge by leidmg the totai quantlty by the
number of units. |

The height of 5 girlsis 1.4 m, 1.44 m, 1.48 m, 1.52 m and
1.56 m. Find the average height of the 5 girls.

Total height = 1.4 +1.44 + 1.48 + 1.52 + 1.56
=7.4m

Total height
Number of girls

74
5

=148 m

Average height =

Mary’s average score for 3 subjects is 78. If Mary got 62 for
English and 89 for Mathematics, find her score for Science.

Total score =78 x 3
=234

Score for Science =234 — 62 — 89
=83




Rate

“Arate involves two quantities We;:”"suallyﬂ'guve rate asone.
quantlty per umt of an _:the _.q__ :_cmt:t_

1. Water flows from a tap at a rate of 25 liters per minute.
How much water would have flowed from the tap in
5 minutes?

25 £ in 1 min QO

25x5=125 25 x 5 /in 5 min

O

125 ¢ of water would have flowed
from the tap in 5 minutes.

2. Rashida counted that her heart beats 234 times in
3 minutes. What is the rate of her heartbeat?

234 +3=78 234 times in 3 min

34 ) .
—3 times in T min

O
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Class: Date:

Exercise 1: Average

one

1. Find the average of eqch of the following.
(a) 14,16 and 30

wite.

(b) 24kg, 38 kg and 34 kg

(©) 12,29,31and 40

(d) $1.70, $3.65 and $3.80

(&) 4.52m,5m, 896 m and 24.8 m




2. Do these. Show dll your work clearly.

(a) The total weight of 4 men and 2 women is 348 kg.
What is their average weight?

(b) Ruth took 11 min 20 s to solve 5 problems. On the
average, how long did she take to solve 1 problem?

© 2008 Marsha '_Cavendiéh_!ﬁtgfnational
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(c) Asalesman used 15 £ 300 ml of gas in 4 days. What
was the average amount of gas he used per day?

(d) The table shows Betty's test scores for 4 subjects.
Find her average score.

English 70

History 85

Mathematics 68

Science




(e) Mother cooked a total of 3kg 530 g of rice from
Monday to Wednesday. She cooked 4 kg 570 g from
Thursday to Saturday. On average, how much rice did

she cook per day?

(f) The sum of 4 numbers is 1230. The average of 3 of
them is 293. What is the fourth number?

© 2008 Marshall Cavendish intematicnal (Sin
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Narne:

Class: Date:

Exercise 2 : Rate

1. Fill in the blanks.

(a) Jerome took 20 days to finish reading a book of
300 pages. Therateis______ pages per day.

(b) A wheel makes 45 revolutions per minute.

At this rate, it willmake ______ revolutions in half
an hour,

(c) David paints 30 Christmas cards in 5 days.

() Therateis_____ cards per day.

(i) Atthisrate, hecanpaint______ cardsin
3 days.

(i) Hecanpaint54cardsin____ days.

2. Do these. Show all your work clearly.

(@) May writes 30 words in 5 minutes. If she continues

writing at the same rate, how many words can she
write in 8 minutes?




(b) Half a dozen cartons of milk cost $12. I have $18. How
many cartons of milk can | buy?

(c) If 160 ml of orange juice can fill 8 bottles of the same
capacity, how many bottles can be filled with 240 ml
of orange juice?

(d) At a parking complex, the parking fee is $1.20 for the
first hour and $0.80 for every additional half hour. How
much is the parking fee for 2 hours 30 minutes?

Find the cost of paving a rectangular area measuring
4 m by 10 m at $11.30 per square meter.




(f) Two faucets deliver water to g pool. Faucet A delivers
28.5 gallons of water in 3 minutes. Faucet B delivers
13.5 gallons of water in 4 minutes. If both the faucets

are turned on, how much water do they deliver
altogether in 10 minutes?

(g) The rental rates of g holiday chalet are as follows.

Weekdays $60 per day
Saturdays and Sundays | $80 per day |

Randy rented a chalet for g few days, including a
Saturday and a Sunday. If he paid $400 altogether in
rental, how many weekdays did he rent the chalet for?




(h) The rate charged by a transport company is
25 cents per kg per km. How much does the company
charge to transport 100 kg of goods for 30 km?

(i) Inacity, the rates for taxi fares are as follows.

For the first km $2.60
For every additional km | $0.40

Mr. Li pays $3.80 for a journey by taxi. How long is his
journey?

-
e
-
N

-




Unit 12 : Data Analysis

Mean, Median and Mode

':'_!:n'a g:ven set of data the mean is the avercege value of the ;
data which is obtained by d{vadmg the sum of the values of the
'data by the number of vaiues |

Find the mean shoe size of 7 ladies given the following
set of data.

5,6,8,8,8,7,7

sum of shoe sizes
number of shoe sizes

Mean =

2+6+8+8+8+7+7
7




In a given set of data, the median is the middle value when the
values are ranked from the least to the greatest or the mean of
the two middle values when the set of data has two middle
values. o e Gl

2. Find the median age of 9 boys given the following set of
data.

14,13, 11,14, 14, 13,12, 10, 10

Make a list of the ages in increasing order.
10,10, 11,12, 13,13, 14,14, 14

The middle value is 13.

So, the median is 13.

Find the median mass of 6 children given the following set
of data.

42, 44,43, 40, 40, 45

Make a list of the ages in increasing order.
40, 40, 42, 43, 44, 45

The middle two values are 42 and 43.

42 + 43

Median = 5
_ 85
2

=42.5 kg
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‘In a given set of data, the mode is the value or quantity that

4. The data shows the number of children in each family
recorded in a survey. Find the mode.

1, 2, 4, 3, 33 1: 1, 1: 1’ O’ 2’ 2 [The number 1 OCCU!’S]

the most often.

L

The mode is 1 child.

Histograms

We can use a histogram to represent grouped data with class
intervals. o

The height, in cm, of 20 students is shown below.

164 151 157 153 164 154 158 158 154 162 159 168
156 155 155 152 156 168 160 163

Height (cm) | Number of students We can group the
150 to 154 6 data in intervals as
155 to 160 shown.

3
161 to 164 4
2

165 to 170




The grouped data can then be shown on a histogram. j

Number
of
students

O N~ Oy 0

150 155 160 165 170
Height (cm) |

The interval from 150 to 155 includes
numbers from 150 to 154 only.

The histogram below shows the number of hours the students
in a class spend studying in a week.

16+

5 10 15 20

Number of hours

(a) 6+16+8+2=32
The total number of students in the class is 32.

(b) The mode number of hours is represented by the
interval 5 to 10.
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Line Graphs

Line graphs ate used to represent data which changes over

The line graph shows the estimated number of people who
own a cell phone in a city in the years from 2000 to 2006.

1000

800

600

Number
of
people 400
(thousands)

200

|

2000 2002 2004 2006
Year

The greatest increase in the number of people who own g
cell phone is between 2002 and 2004.

900,000 — 100,000 = 800,000

The increase in the number of people who own a cell phone
from 2000 to 2006 is 800,000




Pie Charts

'Pie charts are used to dssplc:y and compare the sizes of pqr‘ts |
| that make upa whole |

We ccm eqs;ly see the reiatzve Size of a pcsrt toa whole ina pae
chart F e S R S

A i chart s i gmph .

The pie chart shows the favorite hobbies of the students ina
class. There are 40 students in the class. o

Swimming T
16 Reading is
Playing represented
soccer by a quarter
8 - circle.
Reading
Bowling

% of the students in the class like reading.

The greatest
portion of the chart
is represented by

swimming.

Most students like swimming.

1”6 x 100% = 20%

20% of the students like playing soccer.

o @2008Marshail Cavendlsh lntema' :
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Name: Class: Date:

Exercise 1: N

lean, Median and Mo

1. The score the students obtained in a test out of 100 is
shown below.

82 60 62 63 78 75 86 75 91 46 58 64 65 80

81 65 85 86 63 63 64 66 70 66 85 85 65 65

66 70

(a) Find the mean score.

(b) Find the median score.

(c) Find the mode score.

rimary Mu#hemuhcs (Stundurds Edifion) Exlru Procice.




2. The grades of 40 students in a music examination are
shown below.

MWW
O mMm
My MM
W >0
W > >
> T >
W > I
> W O
> >
Oy O
oo 2>
(W)
a¥e!
> M
wier
nalvs

(a) Find the mode grade.

(b) Find the median grade.

3. The number of hours 20 students spend surfing the Internet

per day is shown below.

55 6 6 10 105 11 85 9 10 9 85 6
75 7 7 4 3 45 6 65

(a) Find the mean number of hours.

(b) Find the median number of hours.

E

N




Cluss: Date:

Exercise 2 : Histograms

The table shows the monthly expenses of the students in g

class.

Monthly expenses ($) Number of students
40to 49 8
50to 59 20
60to 69 16
70to 79 4

(a) Draw a histogram to represent the data.
A

24

207

16+

Number ¢
of 12
students

0 i ; . i .
40 50 60 70 80

Monthy expenses (%)

(b) Find the percentage of students who spend less than
$50 monthly.

avendish inteimn;
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2. The histogram shows the time taken by the boys in a class
to run 2.4 km.

107
8__
Number +
of &+
boys +
4ﬂ
2--
0
6 7 8 9 10
Time (min)

(a) What is the total number of boys represented in the
histogram?

(b) How many boys took at least 7 minutes but less than
8 minutes to run 2.4 km?

(c) Which interval represents the mode time of the boys?

(d) What fraction of the boys took at least 8 minutes but - '.
less than 9 minutes to run 2.4 km? g

Q'Mﬁ'lheni_iic_s_ (Standards Eﬂith’n) Exfrd P'nid.it:é_ 5 | o 2008 M'a_rsija:u:céven_da 2




Name: Class: Date:

Exercise 3 : Line Graphs

1. The line graph shows the number of visitors to a certain
museum from January to June. Study the graph and answer
the following questions.

)
)
]

300
250

200+ /
150 | /

100 +

Number of visitors

Jan Feb Mar Apr May Jun

(a) What was the total number of visitors for the six

months?

(b) What was the difference between the number of
visitors in January and the number of visitors in june?

(c) What was the increase in the number of visitors from
March to April?

(d) From which month to which month did the number of
visitors decrease from 300 to 250?

From to

What was the average number of visitors for April and




2. The line graph below shows the average monthly
rainfall of a certain city from january to December last year.
Study the graph and answer the following questions.

40

30 //

Rainfall (cm)

0

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

(a) Which month had the most rainfall?

(b) From which month to which month did the average
monthly rainfall increase from 10 cm to 30 ecm?

From to

(c) Which month had the same amount of average

rainfall as October?

(d) What was the decrease in the average rainfall from

April to July?

What was the ratio of the average monthly rainfall in
July to the average monthly rainfall in December?

i @'2008 Marshall Caver




Name: Class: Date:

Exercise 4 : Pie Charts

15t year.

-

1. The pie chart below shows how Lena spent her time
yesterday.

studying
8h

others
6 h

sleeping
8h

(a) What fraction of Lena’s time was spent studying?

(b) What percentage of her time was spent on other

1 activities (‘others’)? %

(c) How many hours did she spend playing? h

(d) Whatis the ratio of the time spent sleeping to the time

spent playing?

What percentage of her time was not spent studying?
%




marbles
8 1

(a) How many toys are there altogether in the toy box?

(b) What percentage of the toys are computer games?

%

() What fraction of the toys are marbles?

(d) Express the number of dolls as a percentage of the

number of toy cars.

What is the ratio of the number of marbles to the
number of computer games to the number of dolls?

Primary Muihe" atics {Standards Edifion) . i R : '_@_20@5 Ma.r.é-ﬁal:l'.Ca'\ié.r%q.i.slj_ia-_n'te_r.ﬁ.:%li_bi-i'gl (Sir%gé[ﬁ:bre}iprivata Kt




3. The pie chart below shows the favorite types of books of g
group of 40 students.

animal stories
3

science fiction

fairy tales

(a) What fraction of the students like science fiction?

(b) How many students like animal stories?

(c) What types of books did most students like?

(d) What percentage of the students like joke books?

(e) Whatis the ratio of the students who like joke books to
the total number of students?




4. The pie chart below shows how a group of 100 students go
to school every day.

school bus

What fraction of the students walk to school?

What percentage of the students go to school by

school bus? %

How many students go to school by car?

How many more students go to school by taking the
school bus than by bicycling?

Find the ratio of the students who walk to school to
those who go by car.




0 5. The pie chart below shows how Britney spent her money at
the market last Sunday. She spent $50 in all.

(a) What percentage of Britney’s money was spent on

eggs?

(b) How much did Britney spend on fish?

() What fraction of Britney’s money was spent on beef?

(d) How much more did Britney spend on vegetables than

on eggs?

(e) What is the ratio of the amount spent on fish to the

amount spent on beef?




6. The pie chart below shows the percentages of 800 students
who played different sports.

basketball

football

40%
soccer

25%

(a) How many did wrestling?

(b) What fraction of the students did soccer?

(c) Altogether, how many students did football or
basketball?

(d) There are fewer students who did
basketball than soccer.

The ratio of the number of students who did football -
to the number of students who did soccer to '
the number of students who did basketball is
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Algebraic expressions

Letters can be used to represent unknovvﬂ numbers
“Such letters are known as variables.
Expressions which contam varlab!es Gre known as a!gebmlc

expressaons

Tom is 12 years old. How old will he be after x years?

Ex stands for any whole number.

Tom’s age after xyears = (12 + x) years

The algebraic expression 12 + x
is the sum of 12 and x.

© 2008 Mershall Cavendish Intémationial (Sihgapare) Private Limited




(a)
(b)

(b)

3e+7+5e~2=8e+5

2. Aclown has t balloons. He gave them equally to 9 children
at a fun fair.

Express the number of balloons each child received in
terms of t.

If £ =36, find the number of balloons each child
received.

Number of balloons each child received

=t+9 :
; We write t+ 9 as g - OO
@)

If t =36, number of balloons each child received ===

3. Simplify 3e+ 7+ 5e- 2.

3e+5e=8e
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Integers

Negqtive numbers are useci to represent numbers less than a
_startmg numberofO Sprihilo b

j}’On a horizontcil number Eme posatwe mtegers start a‘t O cxnd
“count to the right. Negatwe integers start at 0 and countto

:'tﬁne Ieft Ois an snteger but lt is ne[ther negat[ve nor posrtive

1. Drawa number line to show the mtegers between 5 and 4,

- l I l \ l | I f | ! | -
%

-5 -4 -3 -2-1 0 1T 2 3 4 5

. On a vertical number line, positive integers start at 0 cmd count
up. Negcrtlve mtegers start at0 omd count céown |

2. What number does each letter represent on the number
line?

A=2
B

I i
uu

On a number line, 3 and —3 are both
the same distance from 0. Their
numerical value is the same.

ol (Singapare] Private Limited s 11550




4
To add two positive integers, add their numerical values. . - |
The result is positive. ‘

3. Use a number line to add positive integers 5 and 4.
+4 |

54+4=9

“To add two negative integers, add their numerical values.
The result is negative. o : R

4. Use a number line to add negative integers —1 and —7.
+H=7)

& L | 1 | ! | | w E

-9 -8 -7 -6 -5 —4 -3 -2 -1 0 1 |

|

{

(D +(=7)=-8 |
To add a positive and a negative integer, find the difference of {
their numerical values. If the number with the larger numerical |
Valu_e is positive, the result is positive. If the number with the
larger numerical value is negative, the result is negative. [
|

5. Use a number line to find the sum of —3 and 2.
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6. Use a number line to find the sum of —6 and 3.

+3

; !
-7 6 -5-4 -3 -2 -1 0 1 2 3
(-6)+3=-3

or

I ! | | [ | | !

| |
| -7 6 -5-4 -3 -2 -1 0 1 2 3
3+(-6)=-3

Subtractmg a pos:tlve number is the same as Gddzng a.
negative number | -

7. Use a number line to subtract 8 from 2.




Coordinate Graphs

‘We can find cmy pom’t on a graph by nammg the coordmates -.
_-of that pomt ' '

'These coordmates are ordered pmrs of numbers i

The first number in the pair indicates the !ocat:on on the D
* horizontal axis and the second number mdicates the Iocqtlon o
- on the Vert;coﬂ yuaxgs |

1. Find the coordinates of each point.

y

2

MW N U

R
M

7

x

2] I\;J
O

[

3uquadrant | 4« quadrant

Coordinates of point A: (3, 4)
Coordinates of point B: (-6, 2)
Coordinates of point C: (—4, —2)

Coordinates of point D: (8, —3)

Coordinates of point E: (5, 0)
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2. (a) Find the coordinates of y when x = ~2 from the figure.
(b) Write an equation showing the relationship between x
and .
A A Y e T
10 :
N i
| "
L] — | 5 w[ I
CHEY aE _ o i y € g i :T
| L b [ A i i | N

(a) When x=-2, yis —6.

(b) The y-coordinate of each point is 4 less than the
x-coordinate.

The straight line passing through
So,y=x—-4 these ordered pairs is called the graph
of the equation y=x-4,




& - :
< X
=10 S N o SN o) pANNNY g
Wy 8 B
2
; - ]
;
: § 10
| - g
( ; .

(a) Give the coordinates of the intersection point of Lines
m and n.

(b) What is the x-coordinate of any point on Line p?

(c) What is the y~-coordinate of any point on Line n?
(@) (=2,-8)

(b) —4
-8
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Exercise 1: Algebraic Expressions

Do these. Show all your work clearly,

(a) Terry spent $xin one shop and $53 in another shop.
(i) Express the total amount of money spent in
terms of x.
(i) I x=35, find the total amount of money spent.
(i) f x=10, find the total amount of money spent.

(b) Leela had 24 Ib of salt. She packed the salt into bags
of nlb each.
(i) Express the number of bags she packed in terms
of n.
(i)  If n=3, find the number of bags she packed.
(i) If n=4, find the number of bags she packed.

R ?nmnryMuihemuircs (Sfundurds Erhhon} ExtruP .'hce:




(c) Sally had $m. She spent $2.50.
(i)  Express the amount of money she had left in

terms of m.
(i)  1f m=10, find the amount of money she had left.
(i) If m=5.5, find the amount of money she had
left.

(d) Arectangleis kcm long and 5 cm wide.
(i)  Express the area of the rectangle in terms of k.
(ii If k=8, find the area of the rectangle.
(i)  If k=12, find the area of the rectangle.

Frimiry Mathematics (Standards Edition] Exi-fd:Prdmc S . ' ©.2008 Marshail Cavendish Intemational




(e) Ramli’s monthly salary is $s. He spends $1500 each
month.

0]
(iD)
(iii)

Express the amount of money he saves in a year
in terms of s,

If s=2300, find the amount of money he save
in a year. |
If s = 2800, find the amount of money he saves
in ayear.

5 tins of biscuits, of equal weight, together weigh
n grams. Each empty tin weighs 100 grams.

0)
(i)
(iii)

Express the weight of the biscuits in each tin in
terms of n.

If n=6500, find the weight of the biscuits in
each tin.

1f n=9000, find the weight of the biscuits in

each tin.




2. Find the value of each of the following expressions when

It

m = 20.
(a) m-13 (b) 8+m
(¢) 5m (d) _%L
(&) 80 ) 29-m

(h) 50-2m+15

4
G
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g 3. Find the valye of each of the foll

OwWing expressions
when h=10.

—

—
i (@) 6h-15 (b) _211+30 |

B
pu—
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Exercise 2 : integers

Fill in the blanks.

(@) If 50 m below seq level s represented by —50,
30 m above seq level is represented by

(b) If 4 floors above the ground floor in g shopping center is
represented by +4, 2 floors below the ground floor

would be represented by

2. (a) Draw a number line to show the integers between —10
and 3.

(b) Draw a number line to show the integers greater than
—2 but less than 6.




3. Write<or»or=ineach O

@ 8( )-8
) -3()-7
© —4()3
@) 21()-21

Fill in the blanks.

(a) The numerical value of =12 is

(b) The numerical value of 16 is

Find the value of each of the following.
(a) (-8)+11=

(b) (=6)+(-14)=

(c) 20+(-4)=

(d) 0+(=10)=

(e) 25+ (-20)=

() (42 +(-18)=




(9) (~78)+45=

(h) 100+ (=55) =

Fill in the blanks.

(a) If k=-3, find the value of each of the following.

() —7+k=

(i) k+(=10)=

(b) If m=-6, find the value of each of the following.

H m+14=

(i) 34+m=

Find the value of each of the following.
(@ (-6)-(-8)=
(b) 30-(-12)=

(c) (-15)—42=




(d) (=26)—(—24)=

(e) 65— (—14)=

(f) (=95)—100= -‘

8. Fillin the blanks. ;

If w=10, find the value of each of the following. 1

(a) w—(-35)=

(b) 80—w= 1

(c) (—64)—w=
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Closs:

Exercise 3 : Coordingte

1. Write the coordinates of each point.

Infermatiarial igapore) Pr"iva'(e_:!_'imité'd: RS




2. In which quadrant would each of the following points be
located?

(@) (45)
ORESD
© (-2.-3) 1
(d) (6,1 |

3. Fillin the blanks.

Y 5 :
i ] ;
; |
{Lv! ¢ ( |
I

17 Ll
. 13

]

e X
10 € 4 2 2 4 6 & 1 [
|
(a) When x=-8, yis

(b) When x=2, yis '-
(©)
(d)

The equation of the line is

Another point on the line that would satisfy the

equation in (c) is
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4. (a) Complete the table for y = x+ 5 for values of x from
—3 to 3.

X -3 -2
3% 2
(¥ ((=3,2)

(b) Which line is a graph of the equation y=x+572




5. Fillin the blanks. -

The coordinates of point A is

has an x-coordinate

Any point on line
of 8.

The coordinates of the intersection point of Lines p and

qis
The coordinates of the intersection point of Lines p and

ris

For Liner,when x=0, yis

The equation of Line p is
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Unit 1 Whole Numbers

6,248,903 {b) 40,827,600
988,560,201 (dy  1,000,635,000
3,600,000,877 (i 9,054,000,082
Five million, two hundred thousand

Eighteen million, six hundred seven thousand
Four hundred thirty-five millien, nine hundred
twelve thousand sixty-seven

Two hillien, three hundred ninety-eight million,
seven hundred one thousand six
600,000,000 + 90,000,000 + 8,000,000

+ 700,000 + 60,000 + 2000 + 100
1,000,000,000 + 300,000,000 +
70,000,000 + 2,000,000 + 200,000 +
60,000 + 5000 + 100 + 80 + 4

6,009,300 {b) 20,000,000
5,000,600 {(d) 800,000,000
876,072,000 (b) 66,327,400
10,732,456 (d} 752,109,634
2,000,000 {b)  hundred thousands
hundred millions d) 3

< (b} = ) < d) <

9,000,000
2G,000,000
810,000,000
600,000,000
300,000,000

11,000,000
50,000,000
120,000,000
6,900,000,000
6,800,000,000

5,200,000,000
5,195,000,000
5,190,000,000
8,356,4%7,000
8,356,500,000
8,400,000,000

5,194,700,000
5,194,740,000
5,194,736,000
8,356,000,000
8,356,500,000
8,360,000,000

- a)

36
4 ®

foYo'ofe

iE
7% x 132

64 ib)
2 %7 {b)

3,470,000,000
1,920,000,060
1,770,000,000
165,200,000

2,828,000,000

[b)
(d}
343
2% x 3

(b)
(d)
(f
thi
{i)

25

5 x 32
lc] 225
) 5x2°

8,160,000,060
9,300,000,000
379,000,000
514,000,000
3.720,000,000

40,000,000 x 100 = 4,000,000,000
40,000,000 x 20 = 1,200,000,000
700,000 x 4000 = 2,800,000,000

800,000 x 40 = 48,000,000

59,000,000
111,000,000
200,000
4,500,000
6000

(b)
(d)
(f
(h)
(i)

30,000,000
23,000,000
130,000
250,000
12,000

40,000,000 + 20 = 2,000,000
50,000,000 + 500 = 100,000
60,000,000 + 3,000 = 20,000
2,000,000,000 + 400 = 5,000,000

(f)
8,000,000 + 4,000,000 = 12,000,000
921,000,000 - 599,000,000 = 322,000,000
8,000,000 ~ 2,000,000 = 6,000,000
414,000,000 + 388,000,000 = 1,002,000,000
400,000 ; 1,200,000
400,000 ; 100,000
1,060,000 ; 4,000,000
8,000,000 ; 1,600,000

Uni# 2 More Coleulations with
Whole Mumbers

, 25,75
, 7012, 14, 21, 28, 42, 84
, 8,12, 16, 24, 32, 48, 96

(e} 30
i 13
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1. [a) 1092
(d) 14,245
lg) 99,015
() 1260
(m} 22,762
lp) 74,574

1. {a) 3RI13
{d] 6RS5
lg) 24R 10
il 4R2
{m) 70R 27
(p] 96 R 48
(s} 118R1

2. [a) 118

Unit 3 Fractions

1{a)
iy =
2 (o) 2
=
3. (a) >
(d) <
4l 55155
b} 5.5 2%
500025 F 1

{b]
{e)
{b}
le)
(b}

(b}

1000
340
100
5135
§22

4400
188,760
80,122
945
48,929

IRESERNES

Voslzg

(<)
(f
(i)
]
(o}

{c]
{f
{i)
{l)
(o)
{r)

(<)
(f

(f)
{e)

{e}

8280
146,899
324
10,125
426,384

6 R 17
89 R 2
13R?
217R 9
208 R 21
152 R 13

U‘I[I\J

[ N

7

R X

. Aa}

{d}
{g)
{il

)

(d)
(g)
(i}

{d)
(9]
. (a)
(d)
(gl
- Aa}
{d}

(d)
(g)
(i}
. (a)

(d)

. {a)

(cl)
(g)
(i}

. (d)

3]

. Aa)

—_—

— _‘w_‘
ae B2 ol oo

B Sl ofon wfee B

2
102

800G

o

1500
116

2kg 250 g
8 min 18 s

INE

{b)

(b}
(e)
(h)

(b)
(e}
(h}
{k}

{b)
{el
(hi
(k)
(e]
(h}
(b}

{b)
(e}
(h)

_,.v,,.
8- Bl

[

s oo orf

e ™

fc)
{f
i)

lc}
i

(

(<)
(fl

{f

{e)

(c)
(5}
(i)

fe)
i
[e)

(h
(i)

12
1
]3""'2“"

1
1=

<)
22%
30

29
84

years 8 months

3
619 in.
5
8
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i
12 é 1. {a) 42 min b) 12 lc) 5 1 lal 50 me bl 36 cm?
23 il (d) 2 km 600 m [e) $3 M $320
33 !%‘ o) 960 2. [a) 36 em by 42 in.
4 { Unit 4 Multiply and Divide Fraciions
]“% i . fal (b)
|
* { 1. {a) ,—:5 (b} ”;]3 ()
2Z I dl < fet =% h &
:; T (hy 3 M 2
| i 3% k35 n +
o | ml 7 % 3 o) | td)
1 2. o) £ b) % .
&
: 1. (o) +kg (b) 80 (g 42 (d 80
2; kg |:
L ok 2. (o) AC th) El; {c) MK (d} HJ
i ik z a1 1 3. [a) 24 em? tb} 17.5 cm? {c) 21 cm?
| 1. (Cll ? “3] }15 (C) ?]6 ':C” 720 (d] 16 em? [e} 8 em? “:) 25 zmz
i (a) = (£ ™ (o) 7% {h} e 4 la} 8 cme (b} 12 em? () 5 cm?
P L1 0o o4 hoa (d) 7 cm? {e) 20 cm? il 56 in2
12 i i i1z (k) <% ih = (gl 14 m?
131 : m £ W7 (o o) =
5+ I S I T C R S R
1. {a) 80 em? (b) 45 cm? ¢ 60 em?
h (d} 12 cm?
] : ) 2. {a) 18 ecm2 (b) 108 cm2 fc} 28 em?
‘ Lol 5% (b} 5% (o 6% [d 8 [} 75 cm?
3 (e} 16 () 19+ (g 15 th) 21
| IS T R - 4 ercise .
i 2
= i tm) 6 % (o) 25 (p} 54 1. () 224cm®*  {b) 294 cm? {c) 648 cm?
; i (d) 7350 m2 (e 1180 em? (1.5 m?
¥
o 4 [b) 20 4 LT ) 3
%) el m 7 “ 7 (d) Unit 6 Ratio
i fe) 200 {ff 9kg (o) 281qt (h) 56 P —
15
1. [a} 7:5; 57 {b) 3:4;4:3
| Unit 5 Perimeter, Area and {c} 1410 ; 10:14
Surface Area (dl 7:3;37 (e} 47 ;74
I
: 1. [a} 27% cm? (b) 21 cm2
: 1. (o} 2:1 (b 4.7 ¢} 1:3
2. (g) 12+ cm? (b)) 7 cm? (dl 51N fe) 7:6 il 2:3
(€ 12 em igl 8:4 thy 21 (i) 4:7
cm i} 51
pore) Prf_\)a're'_LEm%'te_d-_' LI




(&)

Uniy 7

(e]

3. (o} 3.5

2. [a) 9@
el & o {g) 8
il 1 {ih 36

3, {a} 43 b 67 ] 1:4
1:2 i u:3 (g) 49
(i) 24em (j) 60

2:3:1 {b) 5:2:3
$1120 e} $1512
Decimeals

1. (@) 0.5 (b) 0.43
2. (o) 0.24 (b) 0.007
d) 0.056 {e] 0.723
lg)  4.309 th) 6.005
3. lol 55 bl 15
(d 155 o) o
4. (o) 0.48 by 4.2
(d} 8.57 (e} 0.003
5 (a) 6,2,1,5 (k) 1, 0.01
id 2 02
6. la) i) 0.2
iy 0.8
(i) 1.3
(v} 2.5
by (i) 432
i) 4.36
(i} 4.38
{lv) 4.43
) i} 3.052
i}y 3.057
(i} 3.06
(V) 3.064
7. (o) 1.899 ) 1.991
dy 2
8. {a] 3.102 by 10.199
d} 8.001 (e) 7.015
lg) 0.658 (h) 0.005
9. {a) 8.88, 8.808, 8.088, 8.08
{h) 3.2, 3.196, 3.19, 3.025
10.la} G.4 (b) 0.625
(d} 4.25
1. {a) 13 b) &
(d) 5z

b} 32 le] 1

(e 5 i 8 @l @
2. (@) 02 (b} 41 (c 55
o) 208 (B 11.0 (g} 33.0
. (b} 8.43 [c) 1.05
1231 (f 1524 (g} 27.09

(d}
{h]

{d)

28
7

3.8

th) 25 m

[e)
{h

<)
(c)
)

(e)

(c]

i

{e)

{d)
{h)
(d}
(h)
(d)
(h}

5:3:4
39 e¢m

0.999

i1t
0.01

1.7

9
20

a)

- Aol
(b}
[c]
(d)

()

2. (o}

(e]
(i)

. {a)

e
(5)

(m)
{q)

1.132 {b)
4.079 (o)
7.203 th)
5.299

0.654 (b) 0.199
26 (b) 36

(b
(e)
07 (b 03
0.33 {b] 0.44

5, 50, 500
2.9, 29, 290
32.5, 325, 3250

5.214 fc}
4.555 i
8.141 (i)

{c) 0.905 (d)

{e) 10 {d
70.32 (c)
364.5 (f

(b} 42, 39.2

(d} 4, 4.05

e} 3. (d)

(¢} 1.86 Id}

70.18, 701.8, 7018
53.67, 536.7, 5367
104.01, 1040.1, 10,40}

100 (b} 0.7
100 (/1000
100G (jj 100
18 (b} 038
&78 (B 160

875 (i) 1224
195 (n} 6201
104,800

{c) 1000 {d}

{g) 10 (h)
(k) 1000 ()
{c) 50 (d)
{gh 45 {hl
kY 6200 {l)

(o) 23,800 (p}
{r] 270,180

145.2, 14.52, 1,452

6.3, 0.63, 0.063
0.5, 0.05, 0.003

200.7, 20.07, 2.007

38.1, 3.81, 0.381
7.9, 0.79, 0.079

100 (b} 60
00 B 275
1000 (jj 9

{c) 10 {d)
(g) 10 (h)
(ki 100 ()

0.12 [b) 0.007 {c) 0.488 (d)

34 (h 207

{g) 0.021 ({h)

0.032 (j} ©.065 [k} 0.81 {)
0.024 {n) 0.012 (o) 0.003 (p}

200 (b) 400
15,000(ff 300
115 (b)
987.53 te)
940.9 th)
1783.98 - {k)
4970.4 r)

) 0.601

{c) 800 (d)

g} 4200 {h)
10.88 ()
2.1 ()
359.6 (i)
2326.67 ()
7023.6

2.262
3.151
5.29

0.993 I}




8 Measures

500 {h}
76 {e}
43 {h)
Tkm 350 m
2kgdqg

0 km 35 km
4416 ml

32 {b)
4.4 (e
4,035 {h)
0.073 {b)
0.304 (&)
3.064 ih)

6000
3215
41.5

146.31

(R

(h)
5.06
2.52
3.208
0.098
1.502
41.7

(c)
i

fel

and Yelume

(<)
{f)

3450 mi
4 m 80 cm
5m7 cm
0 kg 401 ¢
(¢} 2.072
H 6.001

) 0.267 x
 2.008 75%

i) 35%
il +

iy 70%
(it 60%

49%
61%

25%
35% ()
(i) 65%
(i) +
(i} 30%
(i) 40%

dem, 1 ecm, 1 cm, 4 cm?
4em, 1 em, 3 cm, 12 cm?
4em, 3cm, 1 em, 12 cm?
4 cm, 3 cm, 2 cm, 24 cm®
21 em? (b
26 cm?® (d)
192 in.? {b}
405 ¢cm? (b}
4,08 ¢ b) 174

10 cm {b) 8 cm

24 (b} 20

6 cm k) 12 cm

9 in. by 47¢ {c] 24 cm
3¢ fe) 150 {20 cem
44 th) 20 (i) 4cm
4800 cm?®

20 cm $212
36 kg 375 m
231 66
$1854 $390
$72 $229.50
$1160

27 cm?
20 e’
125 ft8
240 cm?

10 Angles

9 Percentage

1. (@} 18 by 33 ¢} 50
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(b) 80°

(c) 1257 (d) 155° _
Diagrams not drawn fo scale.

1. (o) 55° (b) 40° {c] 265° (d) 120° Aom
(e} 60° (R 150° |{g} 45° th) s0° 4em : -
2. () 30° (b 50° | 60° {d) 35° 50 1908

11 Average and Rate

1. {a] 20 th) 32 kg (c) 28
[d]  $3.05 {e) 10.82 m

2. (e} 58 kg k) 2minl16s
o) 3¢ 825 ml {di 755
fe)] 1kg350g (351

Diagroms not drawn to scale

3om 4 o
1. {a) 15 (b) 1350
{c} (D)6 (i} 18 (8i) %

12
le) $452 ih 12875 gof
gt 4 thl  $750

; 4 km

12 Data Analysis

1.{a) 71 b) &6 (¢} 65
2.{a) A by C
3.{a)  7.275 haurs (b} 7 hours

50 &0 70
Monthy expenses ($)




b 162 % : el b - o <
- - fa) 22 9 X > e) < >
2. (a) (b) 4 (9110 (d 2 L9 o
. 5 la) 3 (b) -20 () 16
R : {dy -10 e) 5 i -60
— e gt -33 (h) 45
§ 1. {a) 1350 (b) 150 [e) 175 4. (a) (i) =10 i) -13
. J3am % (d}  April 1o May (e} 275 ib) (i) 8 (i) 28
120 E 2. o} Dacember (b} July, December 7. {a) 2 {b) 42 {c) -57
" S : fc)  April {dil 10 em {d) -2 {e) 79 h 195
' (e} 13 8. (a] 45 (b} 70 {e) -74
D
LT I L B
. s e , 2, -
5548 y (d) 4 e} 662 2 , Eg% (]_8, _Agl “;; if:?' O)d
Sam 2 . a * quadrant " quadrant
2 fal 20 (b} 10 i) 3 {¢) 3% quadrant (d} Z"d?quctdrcm
{d  66.7% (e} 4:1:2 3.(a) O (b} 10 e} y=x+8
1 ; (d) {1, 9)
3. o} E by 12 (c) fairy tales 4 (a) - T - 5 ] - -
(d) 10 {e) 110 y | 2 | 3 | 4| 5] 6| 7 | &
28 4 fa) =+ (b} 25 ) 10 oyl |13.20 23 L | 0.5 | el | 1271 | 13.8)
{d) 10 e} 5:1 (b} line a
s . 5. (o] (8,-4) (b) q {c) (8 4]
5 [a) 5 b} $15 {c) = dl (2, 4) fel -2 i y=4
{dl $5 le) 35
6. {a) 40 b} = {c) 560
(d) 40 e} 8:5:4
b9 .
Unit 13 Algebra
al 1. la} (i) $(x + 53) il $58 i) $63
{b) (i) 2 li) 8 (i) 6
() {i} $lm - 2.50) (i} $7.50 (i} $3
(d) (i} 5k em? (i} 40 cm? (i} 40 cm?
ie) (i) $12(s ~ 1500} (i) $9400 {ili) $15,600
M 1 {% - 100}g (i} 1200 ¢ (i) 1700 g
45 2. [a) 7 ib) 28 ()] 100
d) 5 e) 4 M 9
g} 80 (h} 25
3. {a} 45 (b) 35 {c} 1
(dl 3 (e} 105 h 192
gl 1 th) 10
4. {a) 2m (b} 3n ic) ép
(d) 99 {e) 5b il 12a
g} 7g {h} 8e ity 10z-5
i 5t-6 ki F-6 M 8d+1
{m) 3+ 2a in) 2h+2 (o} 8k
P} ¥5-r
. Aa) -2
- fal —{0 —!9 —IB —|7 —‘6 —S —IA !3 m‘z -'1 (I) 1 '2 3
(b) 53 4 56
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